Svenska Bridgeférbundet
Simultantavling Dagtid 2016-10-26

Partavling, 84 bord, 166 par. Antal brickor: 24. Medel: 1943.7. Frirond (*) ger egen procent.

Plac Par Poang
1 B10 2663.0
2 Al15 2658.0
3 13 2604.6
4 E1  2570.0
4 F16 2570.0
6 B8  2507.0
7 F2  2495.0
8 G116 2484.0
9 Cl 24570

10 H7  2446.0
11 E10 2436.0
12 H9  2435.0
13 F11  2429.0
14 J9 2420.0
15 D4 2413.0
16 17 2377.1
17  A21 23770
18 C3  2369.0
18 All 2369.0
20 C13 2349.0
21 Al6 2341.0
22 G115 2320.0
23 E6  2317.0
24 D5 23143
25 C15 2313.0
26 A18 2300.0
27 H5  2299.0
28 F13 2297.0
29 110 2290.0
30 C5  2280.0
31 18 2277.7
32 G113 2277.0
33 J3 2268.0
34 E3  2267.0
34 Al10 2267.0
36 J12  2266.0
37 E7  2257.0
37 C17 2257.0
39 J2 2234.0
40 G114 2229.0
41 J18  2224.0
42 B9  2218.0
43 F1  2203.0
44 G107 2153.0
45 E11 2151.0
46 C8 2141.0
a7 E12 2117.0
48 G111 2113.0
49 J17  2103.0
50 Al17 2100.0
51 14 2096.0
52 F18 2091.0
53 H8  2090.0
54 J16  2076.0
55 J10  2070.0
56 C23 2063.0
57 G112 2055.0
58 H11 2053.0
59 H3  2050.0
60 D10 2046.9
61 C10 2045.0
62 D3 20194
63 Cl12 2010.0
64 J6 2002.0
65 A5  2000.0
66 J13  1999.0
67 E17 1996.0
68 C21 1994.0
69 Al 1990.0
70 F9 1984.0
71 E19 1981.0
72 C26 1979.0
73 F4 1978.0
74 A22 1971.0
75 E9  1970.0
76 E5  1958.0
77 E2  1955.0
78 A19 1947.0
79 C24 1942.0
80 H13  1939.0
80 Cl14 1939.0
82 Cl16 1934.0
83 G110 1930.0
84 H14  1921.0
85 J5 1920.0

%

68.49
68.36
66.99
66.10
66.10
64.48
64.17
63.89
63.19
62.91
62.65
62.63
62.47
62.24
62.06
61.14
61.14
60.93
60.93
60.42
60.21
59.67
59.59
59.52
59.49
59.16
59.13
59.08
58.90
58.64
58.58
58.56
58.33
58.31
58.31
58.28
58.05
58.05
57.46
57.33
57.20
57.05
56.66
55.38
55.32
55.07
54.45
54.35
54.09
54.01
53.91
53.78
53.76
53.40
53.24
53.06
52.85
52.80
52.73
52.65
52.60
51.94
51.70
51.49
51.44
51.41
51.34
51.29
51.18
51.03
50.95
50.90
50.87
50.69
50.67
50.36
50.28
50.08
49.95
49.87
49.87
49.74
49.64
49.41
49.38

Namn

Christel Eklund - Staffan Lindberg
Inger Ostenson-Traff - Hans Karlsson
Britt Louise Persson - Marianne Littau

Ann-Charlott Kack Karlsson - Tommy Lundvall

Gun Karlsson - Waldo Whiteman

Leif Persson - Olle Hedman
Margareta Gustafson - Géran Gustafson
Kenneth Géallman - Ulla Ouchterlony
Per-Olof Olehn - Hakan Stenfot

Lars Thuresson - Lennart Ostman
Kurt Lindhe - Lena Wadstrom Lindhe
Barbro Johannesson - Sven Johannesson
Hans Velin - Krister Ekudd

Jan-Erik Nerlund - Lillevi Gustavsson
Gunnel Appelqvist - Thord Lindberg
Claes-Goran Stadler - Lilly lvarsson
Birger Johansson - Gunnel Jansson
Dan Gustavsson - Roland Hansson
Carl Bjork - Sabine Dellien

Thomas Hansson - Hans G Nilsson
Jan Nilsson - Bo Mattsson

Bertil Andersson - Kerstin Kardell
Sven-Erik Arvidsson - Yngve Holgersson
Leif Astrém - Bengt-Ake Pettersson
Gun Jonsson - Boel Hall

Anders Aronson - Svante Hallén
Beate Haslum Nilsson - Hans-Erik Hedstrom
Lennart Emanuelsson - Lars Lévgren
Berit Johnsson - Horst Raudszus

Kjell Dahiman - Yvonne Godesdotter
Natale Bellan - Magnus Widarsson
Lennart Karlsson - Leif Lyngmo
Thomas Wiklund - Lars-Erik Olsson
Gunilla lvarsson - Anders Wikby
Bengt Alfredsson - Hans Norén

Erik Nordenberg - May-Lis Lindblom
Bodil Carlsson - Kennet Géransson
Monica Gilhorn - Mona Berge

Thomas Peterson - Carl-Erik Andersson
Ragnar Ljungkvist - Ove Nyhlén
Tomas Misch - Vivianne Andreasson
Roland Stjernfeldt - Carina Stjernfeldt
Arne Melin - Bjérn Pedersen

Gunilla Hennings - Per Kindgren

Leif Davidsson - Magnus Larsson
Laila Rydje - Margit Kullenberg

Jarl Bengtsson - Hakan Nygren

Olle Rejler - Bernt Carlsson

Lennart Asplund - Gdsta Haglund
Rune Johansson - UIf Aronson

Jonny Stark - Curt Weberyd

Rolf Eliasson - Bo Kvick

Gunilla Fridberg - Hans Frodin

Leif Jansson - Sonja Forsby

Lars Risel - Sten Arling

Mats Rengbo - Inge Svensson
Charlotta Jénsson - Marie Binglév
Joyce Fahlstad - Christina Svensson
Mats Fredén - Lars-Ake Jansson
Christina Hermansson - Lars Hermansson
Leif Timrup - Essie Timrup
Rose-Marie Damberg - Ake Johansson
Britt Baath - Kent Borg

Tommy Spangberg - Sune Engvist
Gun Jacobsson - Mats Séderberg
Lennart Djupfeldt - Lars Markusson
Anita Paulsson - Anita Jonzon

Gerd Wilhelmsson - Ulla Ryblom
Goran Gullbrandsson - Kerstin Andersson
Berit S6rensson - Agneta Nilsson
Britta Lindhe - Maj-Britt Oster

Agneta Larsson - Sven-Arne Larsson
Inger Nilsson - Ann-Mary Bjérling
Anita Ottosson - Hans Goéran Lindgren
Goran Jonzon - Gunnar Postrup
Jonny Eriksson - Bo Walfridsson
Anders Larsson - Willmor Johansson
Jarl Svedertun - Stig Lindhé

Birgitta Kjellin - Torsten Kjellin

Roger Alfredsson - Rogert Deiwall
Birgitta Kjellker Nilsson - Sally Winther
Karin Nordqvist - Gun Elofsson
Lennart Linnerstedt - Sture Mattsson
Karin Ericson - Stig Ericson

Lilian Nilsson - Barbro Tjarnmon

MID

21519
89395
38998
88857
1201
93429
1188
32688
5099
19344
56989
17219
1179
10454
9918
25855
8490
24619
55384
10992
88225
11916
53242
87546
26696
16676
51541
1318
15883
81063
26026
1196
39706
8926
10495
12256
14677
82790
3589
49576
3347
12141
85944
6841
6948
3430
61100
26731
10697
38955
461
45893
86514
53279
3552
59962
86566
93477
60095
33077
33650
53655
91229
1704
89402
11917
17657
27642
48244
87226
44652
3196
13740
90760
9307
59188
61098
37196
88094
93478
92865
11456
1317
31683
9347

82137
3323
52958
7044
2111
310
1189
45563
41921
36190
56990
13430
1186
3576
5302
29542
7404
53725
82259
53752
7375
1303
28389
43796
3438
80464
429
50169
4652
36241
37131
85153
46490
45283
16562
3494
9304
80499
3501
7940
9076
11197
14134
14963
53035
13988
61102
29381
3488
2515
88224
83364
43743
91665
14086
53726
83990
50338
44576
31972
33651
31801
91499
10523
31475
3502
81910
88704
48238
29389
44653
8405
50638
48661
55213
9318
59538
27885
91559
23284
93003
51786
1503
31684
34792

Klubb

BK Tre Sang, Helsingborg
BK Allians, Halmstad

Osby BK

Eksjo BK - S&vsjo BK
Filbyter Bridge

BK Tre Sang, Helsingborg
Filbyter Bridge

Filbyter Bridge

TBS Scania - Bridgeklubben 2 Kléver
Falu BK

Eksjo BK

Falu BK

Filbyter Bridge

Solstabridgen - Hammar6 BK
Boden-Séavast BS

Osby BK

BK Allians, Halmstad

BK Zonen

BK Allians, Halmstad

BK Zonen

BK Allians, Halmstad - Kinnareds BK
Filbyter Bridge

Ydre BK - Tranas BK
Boden-Séavast BS

BK Zonen

BK Allians, Halmstad

Falu BK

Filbyter Bridge

Hastveda BK

Pri-Bri 1936

Hassleholms BK

Filbyter Bridge - Vadstena Bridgeklubb
Solstabridgen

Sévsjo BK

Laholms BK - Simlangsdalens BK
Solstabridgen

Eksjo BK

BK Zonen - Malm6 BK
Hammaro BK

Filbyter Bridge

Karlstads BK - Solstabridgen
BK Tre Sang, Helsingborg
IFK Norrkoping - Atvidabergs BS
Filbyter Bridge

Sévsjo BK - Eksjo BK
Hollvikens BK - BK Zonen
Eksjo BK

Filbyter Bridge

Karlstads BK - Hammard BK
BK Allians, Halmstad

Osby BK

Filbyter Bridge

Falu BK

Solstabridgen

Solstabridgen

BK Zonen

Skénninge BK - Filbyter Bridge
Falu BK

Korsnas PBK

Boden-Séavast BS

BK Zonen

Boden-Sévast BS

BK Zonen

Karlstads BK - Solstabridgen
BK Allians, Halmstad
Solstabridgen

Eksjo BK

BK Zonen

BK Allians, Halmstad

Filbyter Bridge - Ljungsbro BK
Eksjo BK

Svedala BK

Filbyter Bridge

BK Allians, Halmstad

Eksjo BK

Eksjo BK

Eksjo BK

BK Allians, Halmstad

BK Zonen

Falu BK - BK Dalom
Bridgeklubben 2 Kléver

BK Zonen

Filbyter Bridge - Ljungsbro BK
Korsnas PBK

Karlstads BK - Solstabridgen
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115
116
117
118
119
120
121
122
123
124
125
126
127
128
129
130
131
132
133
134
135
136
137
138
139
139
141
142
143
144
145
146
147
148
149
150
151
152
153
154
155
156
157
158
159
160
161
162
163
164
165
166

1920.0
1899.0
1897.0
1895.0
1895.0
1890.0
1888.0
1882.0
1878.0
1873.0
1872.0
1867.0
1866.0
1858.0
1853.0
1842.0
1839.0
1823.0
1820.0
1819.4
1812.0
1801.0
1795.4
1792.0
1788.0
1782.0
1780.0
1776.0
1776.0
1772.0
1766.9
1761.0
1745.0
1740.0
1733.0
1726.0
1721.0
1718.0
1713.0
1706.3
1699.0
1697.0
1694.0
1682.0
1681.0
1680.0
1672.0
1667.0
1664.0
1659.0
1657.0
1656.0
1650.0
1649.0
1649.0
1638.0
1634.0
1622.0
1599.0
1595.0
1593.0
1591.0
1589.7
1570.0
1561.0
1554.0
1541.0
1539.0
1533.0
1532.0
1527.0
1509.7
1464.0
1411.0
1398.0
1359.0
1317.0
1222.0
1186.0
1176.0
1138.0

49.38
48.84
48.79
48.74
48.74
48.61
48.56
48.41
48.30
48.17
48.15
48.02
47.99
47.79
47.66
47.38
47.30
46.89
46.81
46.80
46.60
46.32
46.18
46.09
45.99
45.83
45.78
45.68
45.68
45.58
45.44
45.29
44.88
44.75
44.57
44.39
44.26
44.19
44.06
43.89
43.70
43.65
43.57
43.26
43.24
43.21
43.00
42.88
42.80
42.67
42.62
42.59
42.44
42.41
42.41
42.13
42.03
41.72
41.13
41.02
40.97
40.92
40.89
40.38
40.15
39.97
39.63
39.58
39.43
39.40
39.27
38.83
37.65
36.29
35.96
34.95
33.87
31.43
30.50
30.25
29.27

Rolf Wikstrém - Kenneth Widang
Kerstin Adie - Annika Nilsson

Ulla-Britt Lindmark - Barbro Cronholm
Gulli Sandberg - Anna-Stina Dackander
Harriet Rosell - Eskil Stegd

Olle Karlsson - Sture Lennartsson

Arne Carlsson - William Martinsson
Inge Magnusson - Marianne Cederholm
Ragnar Stenbert - Inger Stenbert
Ragnar Jansson - Maud Kylinger
Birgitta Olsson - Siv Nilsson

Lars Kvissberg - Marianne Kvissberg
Eva Madsen - Hans Andersson

Rolf Nilsson - Lars Jeppsson

Mats Larsson - Bertil Kamf

Gun Ryggberg - Karl-Erik Karlsson
Birgitta Sj66 - Curt Sjoo

Christina Herlowsson - Inger Wendt-Olsson
Kerstin Johansson - A-C Nathanson
Lennart Isaksson - Anders Falck

Folke Nettelblad - Jan-Erik Sandberg
Ingela Strandborg Alm - Ingegérd Bovin
Gerd Henningsson - Lennart Karlsson
Birgitta Bodén - Inger Wallin

Knut Warberg - Yvonne Warberg
Monica Nowak - Lisa Jonsson

Folke Nilsson - Sven Lundh

Lars Olson - Rolf Larsson

Lena Belin - Elizabeth Luthman

Carina Camara - Gunbritt Dalmanner
Torsten Nilsson - Marianne Andersson
Gunnar Flinta - Ruth Holm

Lage Johnsson - Lars-Gunnar Karlsson
Bertil Anderson - Rolf Jonsson

Thomas Brydolf - Charlotte Brydolf
Bjorn Ericsson - Shaun Jacobsen

Hans Ekwall - Hans-Erik Ekwall
Marianne Malmberg - Vanja Bringner
Lars Goran Ohlsson - Ulla Hansson
Mailis Wikstrém - Birgitta Friberg
Ann-Kristin Rempe - Britt Backstrom
Hans-Olof Kjellgvist - Sten Bringner
Roland Lundberg - Jimmy Danielsson
Ingrid Engstréom - Agneta Uddenberg
Glenn Rosberg - Goran Kortz

Ingegerd Hagstrom - Rune Pettersson
Marianne Arvidsson - Per Arvidsson
Bjorn Berglund - Bjarne Harrung
Kerstin Harderup Johannesson - Ingrid Lundh
Inga-Lill Bergvall - Inga-Lill Nordin
Ann-Sofie Amvall - Inger Isaksson
Lennart Hammarlund - Gun Hammarlund
Sven-Erik Gustafsson - Mats Mimer
Evert Eriksson - Lennart Granstedt
Solveig Stolpen - Ulla Nilsson

Goran Wiebe - Bo Larsson

Margaretha Toérnvall - Viola Paulsson
Ingrid Hallén - Lennart Lindvall

Eva Johnsson - Anne-Marie Sward
Agneta Andersson - Nils-Olof Andersson
Ingmarie Leinskdld - Marianne Warnelius
Iréne Palm - Ann-Katrine Ryn

Gunnar Castegren - Eivar Carlsson
Ewa Adiels - Lars-Erik Anderbjork
Inga-Britt Nordstrom - Ann-Margret Bokmark
Anna-Lisa Rydfalk - Gunvor Sandelius
Ake Karlsson - Richard Tham

Maj-Britt Ohlin - Gunnel Jonsson

Karin Ahlm - Gertrud Lindahl

Per Johansson - Ulla Marke

Jan Moller - Birgitta Moller

Ingemar Vikstrom - Lisbet Vikstrom
Edward Lewis - Anita Lewis

Gunnel Kling - Mona Svevar

Peter Andersson - Birgitta Larsson
Anders Ludvigsson - Lars-Ake Klevskog
Eva Andersson - Bodil Ohlund

Turkka Bender - Else Gramel

Marika Ring - Evy Lindberg

Annica Gustafsson - Marie Ekstrand
Margreth Gustavsson - Elsie Blomqvist

93784
26757
39421
91666
51025
33615
26296
30024
43888
1559
39419
51550
39218
36003
45466
36831
28645
80682
55133
87544
10684
53641
43033
50316
32733
88404
60217
9206
27175
42006
24804
4968
83441
92812
58315
61180
13531
30109
59446
87552
87630
83374
40418
44696
58399
20580
11497
27427
29161
45120
36631
86024
44656
44606
5729
91713
60207
60480
93710
59240
32383
90943
43022
87543
88454
18735
1176
43037
80443
36955
39417
43795
29375
54779
87634
60328
37243
42805
61099
59536
55996

46510
36967
92984
7818
91133
11845
16069
2531
88888
31298
39420
84687
16512
60216
45472
7402
28646
17601
48694
87547
91445
54068
53169
17532
48904
81057
88695
1172
48903
43432
45326
85802
90952
2524
58314
49498
82555
25978
39422
33069
56083
25969
50202
48445
53751
16098
21406
60096
88696
41414
39411
40104
44655
44607
6982
89414
61103
36966
2534
61135
78985
15367
45035
49000
78984
80597
37233
43550
6091
94215
39418
43793
29386
54215
45467
58633
32378
42804
61101
59065
55992

Boden-Sévast BS

BK Allians, Halmstad

BK Zonen

Solstabridgen

Filbyter Bridge

Filbyter Bridge

Oshy BK

BK Allians, Halmstad

BK Tre Sang, Helsingborg
Filbyter Bridge

BK Zonen

Filbyter Bridge

BK Tre Sang, Helsingborg
Ystads BS

BK Zonen

BK Allians, Halmstad
Filbyter Bridge

BK Allians, Halmstad
Filbyter Bridge
Boden-Séavast BS

Filbyter Bridge - Gamleby BK
Eksjo BK

Osby BK

Falu BK

Hammaro BK - Solstabridgen
BK Tre Sang, Helsingborg
Ystads BS - BK Zonen
Filbyter Bridge - Ljungsbro BK
Karlstads BK - Solstabridgen
Falu BK

Hastveda BK - Osby BK
BK Zonen

Filbyter Bridge

BK Allians, Halmstad

BK Allians, Halmstad

BK Tre Sang, Helsingborg
Solstabridgen

Eksjo BK

BK Zonen

Boden-Sévast BS

BK Zonen

Eksjo BK

Filbyter Bridge

Falu BK

BK Zonen

Boden-Sévast BS

BK Tre Sang, Helsingborg
Korsnas PBK

BK Zonen

Falu BK

BK Zonen

Filbyter Bridge

Eksjo BK

Eksjo BK

Hammaro BK

BK Allians, Halmstad
Eksjo BK

BK Allians, Halmstad

BK Allians, Halmstad

BK Tre Sang, Helsingborg
Filbyter Bridge

Filbyter Bridge

Osby BK

Eksjo BK

Filbyter Bridge

Filbyter Bridge

Filbyter Bridge

Osby BK

BK Tre Sang, Helsingborg
BK Allians, Halmstad

BK Zonen

Boden-Séavast BS

Filbyter Bridge

Falu BK

BK Zonen

Solstabridgen

Filbyter Bridge
Solstabridgen

Eksjo BK

Osby BK

BK Allians, Halmstad
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48754 #K1063

4 DKn

v KD53
+ K1098
#Kn103

v1098 v64
+D4 ¢ 763

#E942 #KD86

& E92

v EKn72
¢ EKn52
&75

Kontr

3N N +2
4v N +1
4v N +1
4v S +1
4v S +1
4v S +1
4v S +1
4v N +1
4v N +1
4v S +1
4v N +1
4v S +1
4v S +1
4v N +1

4v S +1
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N
<
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w
P4

Béasta kontrakt
5v N =450

Ut Res
a3 460
&K 450
&K 450
a7 450
LY 450
SA 450
&4 450
46 450
*4 450
&6 450
&6 450
*4 450
a5 450
&K 450
SA 450
&2 450
&K 450
+Q 450
&2 450
&Q 450
Y 450
LY:] 450
+Q 450
&K 450
&A 450
a7 450
&6 450
&K 450
&K 450
v8 450
&K 450
a5 450
&2 450
&A 450
&A 450
&6 420
LY:] 420
a7 420
&K 420
&A 420
&6 420
&Q 420
&A 420
vT 420
a5 420
LY:] 420
&A 420
&K 420
&6 420
a7 420
&K 420
&K 420
vT 420
v4 420
&K 420
&A 420
a3 420
vT 420
a5 420
&2 400
&9 400
&A 400
&2 400
&2 400
&6 200
&K 200
&K 200
rY:] 200
Py 180
a3 170
vT 170
&6 170
*3 150
&K 130
rY:] 110
vT -50
&A -50
a3 -50
v4 -50
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Poang

162.0
127.0
127.0
127.0
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127.0
127.0
127.0
127.0
127.0
127.0
127.0
127.0
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127.0
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127.0
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127.0
69.0
69.0
69.0
69.0
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69.0
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69.0
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69.0
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Basta kontrakt

7% O D -4 800
L3R & NT
N4 1 124
S 41 124
091 13
V9l 14
Res Poang
680 160.0
680 160.0
680 160.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
650 145.0
500 127.0
500 127.0
500 127.0
500 127.0
500 127.0
500 127.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
300 107.0
200 91.0
200 91.0
170 88.0
150 86.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
100 60.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
50 24.0
-100 12.0
-110 8.0
-110 8.0
-110 8.0
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Ji4 J8 6v S-1 *A -50 6.0 156.0 A22 A21 4% 0O = aA -130 4.0 158.0
F15 F2 4¢ S-1 a7 -50 6.0 156.0 A4 Al8 5# 0= s A -400 2.0 160.0
C19 C10 4v N-1 &8 -50 6.0 156.0 B7 B8 44D O = 46 -510 0.0 162.0
D7 - 71.1 D7 - 71.1
- 11 66.2 - 11 66.2
3 497643 Bésta kontrakt 4 4876 Bésta kontrakt
Syd v74 5& V =-600 Vast vDKn 4y V =-620
oV + KDKn94 Alla ¢ K9432
*5 & ¢ v & NT #E85 & ¢ v & NT
4 EKDKn 452 N26754 4« E105 4 K32 N35254
v EK v 986 S26754 v76 v EK10854 S352514
¢ E32 +108 O 116 6 7 7 ¢ED + 876 09 6 107 9
210632 #DKn9874 vV 116 6 7 7 #DKn7632 #10 vV 9 7 107 9
4108 4« DKn94
v DKn10532 v 932
¢ 765 ¢ Kn105
#EK K94
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
E1l E18 5NDV -4 ¢+K 1100 162.0 0.0 C3 C2 3NV-2 +3 200 161.0 1.0
B2 B4 44 V-3 v7 300 157.0 5.0 C17 C19 4v O-2 4Q 200 161.0 1.0
C3 C2 3NV-3 + K 300 157.0 5.0 C1 C22 3v0O-1 +Q 100 146.0 16.0
Al12 A7 3NV-3 +K 300 157.0 5.0 I3 111 49 O-1 a4 100 146.0 16.0
F16 F7 3NV-3 +K 300 157.0 5.0 E6 E20 3NV-1 2 100 146.0 16.0
F1 F12 3NV -2 +K 200 134.0 28.0 B9 B2 4v O-1 ¢J 100 146.0 16.0
J1 J12 3NV -2 v7 200 134.0 28.0 D9 D2 4v O-1 a4 100 146.0 16.0
D2 D4 3NV-2 va 200 134.0 28.0 B10 B6 4v O-1 4Q 100 146.0 16.0
12 111 3NV -2 va 200 134.0 28.0 C10 C21 4v O-1 a4 100 146.0 16.0
B3 B6 3NV-2 v7 200 134.0 28.0 F15 F3 3NV-1 2 100 146.0 16.0
C4 C26 3NV-2 v7 200 134.0 28.0 J16 J7 4v O-1 +J 100 146.0 16.0
17 112 2NV -2 +K 200 134.0 28.0 E19 E3 4v O-1 49 100 146.0 16.0
F8 F4 3NV -2 v7 200 134.0 28.0 Cc28 C27 4v O-1 ¢5 100 146.0 16.0
A9 Al6 3NV -2 +K 200 134.0 28.0 G104 G106 3NV -1 +3 100 146.0 16.0
B10 B5 3NV-2 +K 200 134.0 28.0 G111 G103 4v O-1 +J 100 146.0 16.0
J10 J17 64D O -1 vQ 200 134.0 28.0 A21 A20 2¢ N= &T 90 132.0 30.0
Al5 A3 3NV-2 v7 200 134.0 28.0 El E15 2v O= +J -110 129.0 33.0
E17 E5 3NV-2 v7 200 134.0 28.0 D4 D7 2v O= +J -110 129.0 33.0
Ji8 J5 2NV -2 ¢+K 200 134.0 28.0 H3 H6 2v O +1 +Q -140 116.0 46.0
E19 E3 3NV-2 v7 200 134.0 28.0 H4 H12 3v O = 49 -140 116.0 46.0
G101 G116 34 V-2 v4 200 134.0 28.0 A5 Al19 2v O +1 4Q -140 116.0 46.0
G110 G105 2NV -2 +K 200 134.0 28.0 B8 Bl 3v O= 4Q -140 116.0 46.0
G111 G103 6#DO-1 vQ 200 134.0 28.0 J8 J4 2v O+1 +J -140 116.0 46.0
G114 G108 3NV-2 +K 200 134.0 28.0 C9 Cll 2v O+1 +Q -140 116.0 46.0
F15 F3 2v S= aA 110 114.0 48.0 F9 F14 24 V +1 2 -140 116.0 46.0
El E15 2NV -1 +K 100 101.0 61.0 F10 F17 2v O +1 4Q -140 116.0 46.0
A4 Al7 54 0-1 vT 100 101.0 61.0 F11 F6 2v O+1 4Q -140 116.0 46.0
H4 H12 24 V-1 v7 100 101.0 61.0 E12 E4 2v O+1 *T -140 116.0 46.0
Cc7 C20 2NV -1 +K 100 101.0 61.0 J13 J2 2v O+1 +J -140 116.0 46.0
J8 J4 2N V-1 + K 100 101.0 61.0 18 112 2NV +1 +3 -150 104.0 58.0
D9 D1 3NV-1 v7 100 101.0 61.0 B3 B5 3v O+1 +J -170 92.0 70.0
F10 F17 24 V-1 v4 100 101.0 61.0 B4 B7 2v V+2 a4 -170 92.0 70.0
110 15 2NV -1 vK 100 101.0 61.0 C4 C26 2v O +2 a4 -170 92.0 70.0
E13 E2 24 V-1 v7 100 101.0 61.0 H5 H7 2y O +2 +J -170 92.0 70.0
Ji5 J3 2NV-1 v7 100 101.0 61.0 A8 Al4 2v O +2 a4 -170 92.0 70.0
A22 A6 2NV -1 v7 100 101.0 61.0 E9 E16 2v O +2 *J -170 92.0 70.0
c23 C24 2NV -1 v4 100 101.0 61.0 110 16 3v O+1 4Q -170 92.0 70.0
14 I3 14 N= L) 80 88.0 74.0 Ji1 J6 2v O +2 a4 -170 92.0 70.0
C1l C22 3vS-1 4 A -50 85.0 77.0 H13 H2 3v O +1 *T -170 92.0 70.0
F11 F6 3v N-1 a5 -50 85.0 77.0 F18 F5 3v O+1 +Q -170 92.0 70.0
E12 E4 1a V= va -80 82.0 80.0 G110 G105 3v O+1 4Q -170 92.0 70.0
B9 Bl 3v N-2 45 -100 78.0 84.0 H9 H14 2NV +2 2 -180 80.0 82.0
C9 Cll 3vS-2 s A -100 78.0 84.0 F1 F12 3v O +2 +J -200 73.0 89.0
H13 H2 3v S-2 L) -100 78.0 84.0 A9 Al6 2v O +3 +5 -200 73.0 89.0
A5 Al9 24 V= v7 -110 73.0 89.0 J10 J17 2v O +3 +Q -200 73.0 89.0
H9 H14 24 V= v7 -110 73.0 89.0 A22 A6 2v O +3 +Q -200 73.0 89.0
D3 D6 1INV +1 *4 -120 70.0 92.0 Cc23 C24 2v O+3 aJ -200 73.0 89.0
H3 H6 4# O = &K -130 68.0 94.0 G107 G115 2v O +3 «Q -200 73.0 89.0
D10 D5 34 V= +K -140 66.0 96.0 J15 J3 2NV +3 2 -210 65.0 97.0
A2 Al13 2NV +1 + K -150 57.0 105.0 E17 E5 2NV +3 2 -210 65.0 97.0
C5 C25 2NV +1 +K -150 57.0 105.0 A10 Al18 3v O +3 «Q -230 62.0 100.0
H5 H7 4% O +1 &A -150 57.0 105.0 D10 D6 3NV = 2 -600 60.0 102.0
A8 Al4 2NV +1 + K -150 57.0 105.0 H1 H8 4v O= +5 -620 45.0 117.0
F9 F14 2NV +1 +K -150 57.0 105.0 J1 J12 49 O = a4 -620 45.0 117.0
E1l4 E7 2NV +1 +K -150 57.0 105.0 D3 D5 4v O= 4Q -620 45.0 117.
A21 A20 44 O +1 vQ -150 57.0 105.0 15 14 4v O = a4 -620 45.0 117.0
G113 G102 2NV +1 + K -150 57.0 105.0 C7 C20 4v O= +Q -620 45.0 117.0
E9 E16 34 V +1 v7 -170 47.0 115.0 E8 E10 4v O= 49 -620 45.0 117.0
Ji1 J6 14 V +3 &5 -170 47.0 115.0 J9 J14 4v O = 4Q -620 45.0 117.0
E6 E20 2NV +2 +K -180 44.0 118.0 Al2 A7 4v O = 49 -620 45.0 117.0
G104 G106 24 V +3 v7 -200 42.0 120.0 F13 F2 4v O= 4Q -620 45.0 117.0
18 16 24D N -2 +38 -300 38.0 124.0 Al5 A3 4v O= 4Q -620 45.0 117.0
J16 J7 4vDS-2 4 A -300 38.0 124.0 C16 Cl4 4v O= +J -620 45.0 117.0
C17 C19 3vDS-2 s A -300 38.0 124.0 Ji8 J5 4v O = +J -620 45.0 117.0
Al All 3NO= +J -600 19.0 143.0 G101 G116 4v O= *4 -620 45.0 117.0
H1 H8 3NV = ¢J -600 19.0 143.0 G114 G108 4v O= +Q -620 45.0 117.0
B7 B8 3NV= +K -600 19.0 143.0 F8 F4 3NO+1 48 -630 28.0 134.0
E8 E10 3NV = +K -600 19.0 143.0 Ell E18 3NV +1 2 -630 28.0 134.0
J9 J14 3NV = +K -600 19.0 143.0 E14 E7 3NV +1 2 -630 28.0 134.0
Al10 Al8 5# 0O = vQ -600 19.0 143.0 Al All 4v O +1 +5 -650 18.0 144.0
H10 H11 3NV = +K -600 19.0 143.0 11 17 49 O +1 4Q -650 18.0 144.0
C12 C15 54 V= +K -600 19.0 143.0 A2 Al3 4y O +1 +Q -650 18.0 144.0
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F13 F2 3NV= + K -600 19.0 143.0 C6 C8 4v O+1 +J -650 18.0 144.0
J13 J2 3NV= + K -600 19.0 143.0 Ci12 C15 4v O +1 a4 -650 18.0 144.0
C16 Cl4 3NV = ¢+ K -600 19.0 143.0 C18 C13 4v O +1 a4 -650 18.0 144.0
C18 C13 3NV= + K -600 19.0 143.0 G113 G102 4v O +1 +Q -650 18.0 144.0
F18 F5 3NV= + K -600 19.0 143.0 A4 Al7 3NV +2 ¢+ 4 -660 6.0 156.0
C28 C27 3NV = ¢+ K -600 19.0 143.0 C5 C25 3NV +2 48 -660 6.0 156.0
G107 G115 3NV= + K -600 19.0 143.0 H10 H11 3NV +2 2 -660 6.0 156.0
G109 G112 3NV= ¢+ K -600 19.0 143.0 E13 E2 3NV +2 2 -660 6.0 156.0
C6 C8 3NV +2 *4 -660 1.0 161.0 F16 F7 3NV +2 2 -660 6.0 156.0
C10 C21 3NV +2 &5 -660 1.0 161.0 G109 G112 4v O +2 a4 -680 0.0 162.0
D7 - 711 - D1 75.8
- 11 66.2 - 12 74.8
5 «D4 Basta kontrakt 6 4«10 Basta kontrakt
Nord v Kn542 64 O =-980 Ost v ED964 54 O D-1200
NS ¢+ D6432 oV ¢ E82
#K10 & ¢ v & NT #9842 & ¢ v & NT
« E82 & KKn9753 N6 4212 « ED83 & KKn97652 N 118 8 3 6
vE10876 ¥D9 S6 4212 vK10752 v8 S 118 8 3 6
+8 + EKKn5 O 7 9 101210 + D6 + K974 013 4 103
#Kn763 &8 vV 7 9 101210 &Kn7 *6 vV 135 103
106 a4
vK3 vKn3
¢ 1097 ¢ Kn1053
&#ED9542 &EKD1053
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
Ci12 C16 54 V-3 &K 150 162.0 0.0 F16 F8 5v O-7 &A 700 162.0 0.0
D3 D5 44 O-1 *A 50 160.0 2.0 B9 B2 54D S = s A 550 160.0 2.0
H5 H1 24 O+1 SA -140 157.0 5.0 J2 J1l 64D O -2 *A 500 157.0 5.0
Ci11 C7 24 O+1 &A -140 157.0 5.0 D4 D7 64DO -2 &A 500 157.0 5.0
C1 C20 34 O+2 46 -200 148.0 14.0 C1 C20 5# S= s A 400 143.0 19.0
C5 C26 24 O+3 SA -200 148.0 14.0 El ES5 5&S-= s A 400 143.0 19.0
18 112 34 S-2 +8 -200 148.0 14.0 A5 Al8 5& S = 4 A 400 143.0 19.0
C13 C9 24 O+3 *T -200 148.0 14.0 H5 H1 5# S= s A 400 143.0 19.0
F13 F3 34 O+2 *T -200 148.0 14.0 18 112 5% S= s A 400 143.0 19.0
F16 F8 24 O +3 *T -200 148.0 14.0 D10 D6 5# S= 4 A 400 143.0 19.0
J17 J11 34 O +2 *A -200 148.0 14.0 E10 E16 5# S= s A 400 143.0 19.0
13 111 34 O +3 SA -230 138.0 24.0 110 16 5& S = s A 400 143.0 19.0
J9 J5 24 O +4 *T -230 138.0 24.0 F13 F3 5& S= 4 A 400 143.0 19.0
A16 A4 24 O +4 +9 -230 138.0 24.0 H13 H3 5# S= s A 400 143.0 19.0
D4 D7 44 O= *T -420 120.0 42.0 Al6 A4 5# S = s A 400 143.0 19.0
F4 F15 44 O = &A -420 120.0 42.0 G116 G102 5# S= 4 A 400 143.0 19.0
J4 J15 44 O = &9 -420 120.0 42.0 F2 F1 54D O-1 &K 200 126.0 36.0
B9 B2 44 O= 46 -420 120.0 42.0 B8 Bl 54DO-1 *A 200 126.0 36.0
A10 Al7 44 O= 46 -420 120.0 42.0 All A7 54DO-1 *A 200 126.0 36.0
E10 E16 44 O= SA -420 120.0 42.0 J12 J7 54DO-1 *A 200 126.0 36.0
110 16 44 O = SA -420 120.0 42.0 C23 C25 54DO-1 &A 200 126.0 36.0
J13 J3 44 O= T -420 120.0 42.0 B10 B6 2& S +4 ¢+ Q 170 120.0 42.0
E14 E8 44 O= SA -420 120.0 42.0 A3 Ald 44 S +1 s A 150 115.0 47.0
H14 H10 44 O= SA -420 120.0 42.0 B3 B5 4# S +1 s A 150 115.0 47.0
E18 E12 44 O= &9 -420 120.0 42.0 F9 F5 4& S+1 v2 150 115.0 47.0
G111 G106 44 O= aT -420 120.0 42.0 c21 C17 44 N +1 v7 150 115.0 47.0
G112 G104 44 O= oT -420 120.0 42.0 H2 H9 44 S= s A 130 110.0 52.0
G113 G103 44 O= T -420 120.0 42.0 Ci11 C7 54 O-1 *A 100 104.0 58.0
G116 G102 44 O= *A -420 120.0 42.0 Cc27 C8 54 O-1 SA 100 104.0 58.0
Al A22 44 O +1 &9 -450 68.0 94.0 C28 C3 54 O-1 vJ] 100 104.0 58.0
El E5 44 O+1 *T -450 68.0 94.0 G105 G107 54 O-1 *A 100 104.0 58.0
A2 Al2 44 O +1 &A -450 68.0 94.0 G108 G115 54 O-1 SA 100 104.0 58.0
F2 F1 44 O+1 +9 -450 68.0 94.0 F4 F15 5& S-1 s A -50 91.0 71.0
H2 H9 44 O +1 &A -450 68.0 94.0 H6 H8 5# S-1 4 A -50 91.0 71.0
B4 B7 44 O+1 SA -450 68.0 94.0 J9 J5 54 S-1 3 -50 91.0 71.0
(62 C2 44 O+1 A -450 68.0 94.0 A10 Al7 5&S-1 s A -50 91.0 71.0
E4 E19 44 O+1 L Y -450 68.0 94.0 C13 C9 5#S-1 4 A -50 91.0 71.0
A6 A21 54 O= *A -450 68.0 94.0 H14 H10 6% S-1 s A -50 91.0 71.0
C6 C10 44 O+1 SA -450 68.0 94.0 J14 J10 5# S-1 s A -50 91.0 71.0
E6 E17 44 O+1 &A -450 68.0 94.0 G112 G104 54 S-1 4 A -50 91.0 71.0
J6 J18 44 O +1 &A -450 68.0 94.0 I3 111 54D S -1 &7 -100 78.0 84.0
B8 Bl 44 O+1 +9 -450 68.0 94.0 C6 C10 6% S-2 s A -100 78.0 84.0
D9 D2 44 O+1 &A -450 68.0 94.0 F17 F11 5& S -2 4 A -100 78.0 84.0
F9 F5 44 O +1 &A -450 68.0 94.0 E18 E12 54D S-1 s A -100 78.0 84.0
B10 B6 44 O +1 oT -450 68.0 94.0 G110 G101 64#DS-1 s A -100 78.0 84.0
D10 D6 44 O +1 *T -450 68.0 94.0 D3 D5 34 O= &K -140 72.0 90.0
All A7 44 O +1 aT -450 68.0 94.0 Al A22 34 O+1 &A -170 60.0 102.0
H11 H12 44 O +1 *T -450 68.0 94.0 C4 C2 34 O+1 *A -170 60.0 102.0
J12 J7 44 O +1 *T -450 68.0 94.0 E6 E17 34 O+1 *A -170 60.0 102.0
A13 A8 4e O +1 *T -450 68.0 94.0 F6 F18 24 O +2 &A -170 60.0 102.0
E13 E3 44 O+1 *T -450 68.0 94.0 J6 J18 34 O +1 *A -170 60.0 102.0
H13 H3 44 O +1 +9 -450 68.0 94.0 D9 D2 24 O+2 *A -170 60.0 102.0
F14 F10 44 O+1 v3 -450 68.0 94.0 F12 F7 34 O+1 &A -170 60.0 102.0
J14 J10 44 O +1 *T -450 68.0 94.0 E13 E3 34 O+1 +J -170 60.0 102.0
F17 F11 44 O +1 &A -450 68.0 94.0 A20 Al9 34 O +1 *A -170 60.0 102.0
C18 Cl4 44 O +1 SA -450 68.0 94.0 E20 E7 24 O+2 &A -170 60.0 102.0
C19 C15 44 O+1 A -450 68.0 94.0 G113 G103 34 O +1 *A -170 60.0 102.0
A20 Al9 44 O +1 *T -450 68.0 94.0 J4 J15 24 O+3 *A -200 48.0 114.0
E20 E7 44 O+1 SA -450 68.0 94.0 H4 H7 54D S -2 s A -300 46.0 116.0
c21 C17 44 O +1 SA -450 68.0 94.0 11 17 44 O = SA -620 27.0 135.0
C23 C25 44 O +1 &A -450 68.0 94.0 A2 Al2 44 O= &K -620 27.0 135.0
C28 C3 44 O+1 A -450 68.0 94.0 B4 B7 44 O= &A -620 27.0 135.0
G105 G107 44 O+1 SA -450 68.0 94.0 E4 E19 44 O= *A -620 27.0 135.0
G108 G115 44 O +1 &A -450 68.0 94.0 C5 C26 44 O= *A -620 27.0 135.0
G109 G114 44 O+1 »2 -450 68.0 94.0 15 14 44 O = SA -620 27.0 135.0




G110 G101 44 O+1 46 -450 68.0 94.0 A6 A21 44 O= &A -620 27.0 135.0
11 17 44 O +2 &K -480 15.0 147.0 A9 Al5 44 O = &A -620 27.0 135.0
J2 J1 44 O +2 *T -480 15.0 147.0 C12 Cl16 44 O= SA -620 27.0 135.0
A3 Al4 4e O +2 T -480 15.0 147.0 Al3 A8 44 O= &A -620 27.0 135.0
B3 B5 44 O +2 *T -480 15.0 147.0 E14 E8 44 O= &A -620 27.0 135.0
H4 H7 44 O +2 SA -480 15.0 147.0 F14 F10 44 O= SA -620 27.0 135.0
A5 Al8 44 O +2 T -480 15.0 147.0 E15 E2 44 O= &A -620 27.0 135.0
15 14 44 O +2 &A -480 15.0 147.0 J16 J8 44 O= vlJ -620 27.0 135.0
F6 F18 4e O +2 *T -480 15.0 147.0 C19 Cl5 44 O= &A -620 27.0 135.0
H6 H8 44 O +2 &A -480 15.0 147.0 Cc22 C24 44 O= &A -620 27.0 135.0
A9 Al5 44 O +2 *T -480 15.0 147.0 G109 G114 44 O= &Q -620 27.0 135.0
E9 E11 44 O +2 *T -480 15.0 147.0 G111 G106 44 O = SA -620 27.0 135.0
F12 F7 44 O +2 T -480 15.0 147.0 C18 Cl4 44 O+1 LY -650 8.0 154.0
E15 E2 44 O+2 &A -480 15.0 147.0 H11 H12 44DO= A -790 4.0 158.0
J16 J8 44 O +2 &9 -480 15.0 147.0 J13 J3 44DO= &A -790 4.0 158.0
c22 C24 44 O +2 &A -480 15.0 147.0 Ji7 J11 44D O = &A -790 4.0 158.0
c27 C8 44 O+2 *T -480 15.0 147.0 E9 Ell 34DO+1 &A -930 0.0 162.0
- D1 75.8 - D1 75.8
- 12 74.8 - 12 74.8
7 & EKn5 Basta kontrakt 8 &75 Basta kontrakt
Syd vKn 5v V =-650 Vast v D10975 2v N =110
Alla + D87 Ingen ¢ 10982
&#EK7653 & ¢ v & NT D9 & ¢ v & NT
& K832 «D1074 N8 8 226 4K1086 «D4 N6 6 87 6
vE10742 vKD985 S88226 v 864 v EK2 S67876
¢ EK5 +9 O5 4 11106 ¢ KDKn7 4543 O6 6 56 6
&10 &#Kn92 V 5 4 11106 &73 #Kn8642 V6656 6
496 « EKn932
v63 vKn3
+ Kn106432 +E6
D84 &#EK105
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
F1 F8 5vDV-1 *7 200 162.0 0.0 C5 C2 3NN+1 &4 430 162.0 0.0
J13 J4 3v V+1 &A -170 159.0 3.0 Cl Cll 2NN +1 &2 150 159.0 3.0
F15 F5 2y V+2 &A -170 159.0 3.0 G111 G102 2NN +1 &4 150 159.0 3.0
El E18 5& N -2 +9 -200 147.0 15.0 G112 G107 2v S+1 *+K 140 156.0 6.0
A2 All 3v V+2 &K -200 147.0 15.0 F1 F8 2NS= +K 120 150.0 12.0
C3 C20 5 N -2 +9 -200 147.0 15.0 A3 A13 INN+1 &4 120 150.0 12.0
H6 H2 2v V+3 &A -200 147.0 15.0 111 14 INS+1 *J 120 150.0 12.0
F10 F6 34 V +2 s A -200 147.0 15.0 J15 J5 2NN= &J 120 150.0 12.0
110 17 54D N -1 +9 -200 147.0 15.0 C18 Cl2 2NN= &6 120 150.0 12.0
Al7 A5 2v V +3 &A -200 147.0 15.0 J1 J8 14 S+1 *+K 110 139.0 23.0
c27 Cl0 3v V+2 s A -200 147.0 15.0 D4 D6 14 S+1 +K 110 139.0 23.0
G106 G108 3v V +2 &A -200 147.0 15.0 H6 H2 1a S+1 +K 110 139.0 23.0
G110 G114 3v V +2 &A -200 147.0 15.0 F17 F12 14 S+1 +K 110 139.0 23.0
C1l Cll 4v V= &A -620 101.0 61.0 c27 Cl0 1e S+1 *7 110 139.0 23.0
D1 D2 4v V= &A -620 101.0 61.0 G113 G104 1s S+1 +K 110 139.0 23.0
E2 E6 4v V= &A -620 101.0 61.0 E16 E1l INS= *7 90 132.0 30.0
12 18 4v V= &A -620 101.0 61.0 Al A21 14 S= +K 80 98.0 64.0
A3 Al3 4v V= &A -620 101.0 61.0 B1 B2 1a S= +K 80 98.0 64.0
H3 H10 4v V= &A -620 101.0 61.0 D1 D2 1s S= ¢+ K 80 98.0 64.0
D4 D6 4v V= &A -620 101.0 61.0 E1l E18 1a S= *7 80 98.0 64.0
B5 B8 4v V= &A -620 101.0 61.0 E2 E6 1a S= +K 80 98.0 64.0
C5 C2 4v V= &A -620 101.0 61.0 B4 B6 14 S= &3 80 98.0 64.0
H5 H8 4v V= &A -620 101.0 61.0 A6 A20 14 S= +K 80 98.0 64.0
A6 A20 4v V= &A -620 101.0 61.0 16 I5 1a S= *J 80 98.0 64.0
E7 E17 4v V= &K -620 101.0 61.0 E7 E17 1e S= ¢+ K 80 98.0 64.0
C8 C24 4v V= &A -620 101.0 61.0 C8 C24 1e S= +K 80 98.0 64.0
B9 B3 4v V= &K -620 101.0 61.0 E8 E20 14 N= *J 80 98.0 64.0
c9 Cl4 4v V= &A -620 101.0 61.0 B9 B3 14 S= ¢+ K 80 98.0 64.0
Al0 Al6 4v V= &A -620 101.0 61.0 c9 Cl4 1e S= +K 80 98.0 64.0
B10 B7 4v V= &A -620 101.0 61.0 D9 D3 14 S= +K 80 98.0 64.0
D10 D7 4v V= &A -620 101.0 61.0 Al10 Al6 14 S= +Q 80 98.0 64.0
J10 J6 4v V= &A -620 101.0 61.0 B10 B7 14 S= +K 80 98.0 64.0
111 14 4% V= &K -620 101.0 61.0 D10 D7 1a S= +K 80 98.0 64.0
E13 E4 4v V= &A -620 101.0 61.0 F10 F6 14 S= +K 80 98.0 64.0
F13 F4 4v V= &A -620 101.0 61.0 110 17 14 S= +K 80 98.0 64.0
H13 H4 4v V= &A -620 101.0 61.0 J10 J6 1la S= +K 80 98.0 64.0
Al4 A9 4v V= &A -620 101.0 61.0 F13 F4 1la S= &7 80 98.0 64.0
E14 E9 4v V= &A -620 101.0 61.0 H13 H4 14 S= +K 80 98.0 64.0
J14 J11 4v V= &A -620 101.0 61.0 E1l4 E9 1a S= +K 80 98.0 64.0
F16 F9 4v V= &A -620 101.0 61.0 J14 J11 14 S= +K 80 98.0 64.0
Cc17 C6 44 O= &Q -620 101.0 61.0 C15 C21 1e S= ¢+ K 80 98.0 64.0
F17 F12 4y V= &K -620 101.0 61.0 F16 F9 14 S= &9 80 98.0 64.0
Al9 Al8 4v V= &A -620 101.0 61.0 C17 C6 1la S= +K 80 98.0 64.0
A22 A7 4v V= &A -620 101.0 61.0 Ji7 J12 1s S= +K 80 98.0 64.0
Cc23 C26 4v V= &A -620 101.0 61.0 Al19 Al8 1la S= +K 80 98.0 64.0
G101 G105 4v V= &A -620 101.0 61.0 A22 A7 14 S= *+K 80 98.0 64.0
G111 G102 4v V= &A -620 101.0 61.0 G101 G105 14 S= +K 80 98.0 64.0
G112 G107 4v V= &A -620 101.0 61.0 G103 G116 1s S= +K 80 98.0 64.0
G115 G109 4v V= &A -620 101.0 61.0 G115 G109 1s S= *J 80 98.0 64.0
Al A21 4v V +1 &A -650 32.0 130.0 J3 J2 2NV -1 a5 50 64.0 98.0
B1 B2 4v V+1 s A -650 32.0 130.0 11 112 164 S-1 +K -50 44.0 118.0
11 112 5v V= &A -650 32.0 130.0 A2 All 24 S-1 +K -50 44.0 118.0
J1 J8 4v V+1 &K -650 32.0 130.0 C3 C20 24 S-1 ¢+ K -50 44.0 118.0
F3 F2 4y V +1 s A -650 32.0 130.0 F3 F2 24 S-1 +Q -50 44.0 118.0
J3 J2 4v V+1 &A -650 32.0 130.0 Ad Al5 24 S-1 +K -50 44.0 118.0
A4 Al5 4y V +1 &A -650 32.0 130.0 H5 H8 24 S-1 +K -50 44.0 118.0
B4 B6 4v V+1 &A -650 32.0 130.0 F7 F18 24 S-1 +K -50 44.0 118.0
16 15 4v V+1 &A -650 32.0 130.0 H7 H9 24 S-1 +K -50 44.0 118.0
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Cc7 Cl3 4v V+1 SA -650 32.0 130.0 J7 J18 14 S-1 K -50 44.0 118.0
F7 F18 4v V +1 SA -650 32.0 130.0 E10 E12 3NN-1 vA -50 44.0 118.0
H7 H9 4v V +1 SA -650 32.0 130.0 Al12 A8 14 S-1 &7 -50 44.0 118.0
J7 J18 5v V= SA -650 32.0 130.0 H12 H1 1e S-1 &3 -50 44.0 118.0
E8 E20 4v V +1 SA -650 32.0 130.0 Ji3 J4 3NS-1 48 -50 44.0 118.0
D9 D3 4v V+1 &K -650 32.0 130.0 Al4 A9 1a S-1 *+ K -50 44.0 118.0
E10 E12 4v V +1 SA -650 32.0 130.0 H14 H11l 24 S-1 K -50 44.0 118.0
Al12 A8 4v V +1 SA -650 32.0 130.0 J16 J9 24 S-1 *K -50 44.0 118.0
H12 H1 4v V+1 SA -650 32.0 130.0 Al7 A5 24 S-1 K -50 44.0 118.0
Fl14 F11 4y V+1 SA -650 32.0 130.0 E19 E5 14 S-1 &7 -50 44.0 118.0
H14 H11l 4v V+1 SA -650 32.0 130.0 G110 G114 14 S-1 *K -50 44.0 118.0
C15 C21 4v V+1 &A -650 32.0 130.0 H3 H10 3NN -2 &3 -100 20.0 142.0
E15 E3 4v V+1 s A -650 32.0 130.0 B5 B8 24DS-1 &7 -100 20.0 142.0
J15 J5 4v V +1 SA -650 32.0 130.0 F15 F5 2N S-2 *K -100 20.0 142.0
E16 E11l 4v V+1 &A -650 32.0 130.0 Cc22 C25 2N S-2 K -100 20.0 142.0
J16 J9 4v V +1 SA -650 32.0 130.0 c23 C26 24 S-2 *+Q -100 20.0 142.0
Ji7 J12 4y V +1 SA -650 32.0 130.0 12 18 34 S-3 K -150 8.0 154.0
C18 Cl2 4v V+1 SA -650 32.0 130.0 E13 E4 34 S-3 *+K -150 8.0 154.0
C19 Cl6 4v V+1 SA -650 32.0 130.0 F14 F11 INO+2 &A -150 8.0 154.0
E19 E5 4v V+1 s A -650 32.0 130.0 E15 E3 2NS-3 *K -150 8.0 154.0
Cc22 C25 4v V+1 »A -650 32.0 130.0 C19 Cl6 44 S-3 v8 -150 8.0 154.0
c28 C4 5v V= &K -650 32.0 130.0 c28 C4 24 S-3 K -150 8.0 154.0
G103 G116 4v V +1 SA -650 32.0 130.0 G106 G108 2NN -3 &2 -150 8.0 154.0
G113 G104 4v V +1 SA -650 32.0 130.0 C7 Cl3 44 S-4 *+K -200 0.0 162.0
D5 - 96.4 D5 - 96.4
- 13 108.5 - 13 108.5
9 « K1032 Béasta kontrakt 10 « EKD98 Basta kontrakt
Nord v 109 24 N =110 Ost vE3 3v S =140
ov ¢+ E1076 Alla ¢+ EK74
#Kn84 & ¢ v & NT #93 & ¢ v & NT
aKn96 474 N6 8587 4 Kn75 4632 N589 86
vED7 v 86432 S 68587 v K92 vD6 S589 86
¢ Kn985 ¢ K4 075845 ¢ DKn965 ¢3 08 4355
#D65 #E1097 V75845 &»E6 #KDKn10754 V843505
« ED85 4104
v KKn5 v Kn108754
¢+ D32 + 1082
»K32 82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J10 J16 44 S= vA 420 162.0 0.0 D5 D7 3NDV -4 s A 1100 162.0 0.0
16 15 24 S+2 vQ 170 157.0 5.0 E6 E19 5#D O -3 a4 800 157.0 5.0
H8 H10 24 S+2 vA 170 157.0 5.0 A13 A9 5#D O -3 T 800 157.0 5.0
110 17 24 S+2 vA 170 157.0 5.0 C13 Cl 34DO-3 aT 800 157.0 5.0
G101 G108 24 S+2 vA 170 157.0 5.0 Ji7 Jl 54D O -3 aT 800 157.0 5.0
A3 Al2 2N S +1 +5 150 146.0 16.0 G107 G109 44D O -2 T 500 152.0 10.0
F4 F3 INS+2 v7 150 146.0 16.0 Cc8 C25 3NV -4 s A 400 150.0 12.0
Cc8 C25 INS+2 v7 150 146.0 16.0 E2 E18 5# O -3 aT 300 146.0 16.0
F11 F7 INS+2 +5 150 146.0 16.0 E15 E4 5# O -3 v4 300 146.0 16.0
A18 Al7 INS+2 +5 150 146.0 16.0 Ji8 J8 2NV -3 s A 300 146.0 16.0
Ji8 J8 2N S +1 +5 150 146.0 16.0 E3 E7 34DO-1 aT 200 138.0 24.0
E20 E9 INS+2 +5 150 146.0 16.0 13 11 4% O -2 *T 200 138.0 24.0
Al A20 24 S+1 +8 140 120.0 42.0 17 16 3#DO-1 aT 200 138.0 24.0
B1 B2 34 S= +8 140 120.0 42.0 H12 H14 5% O -2 a4 200 138.0 24.0
E2 E18 34 S= v7 140 120.0 42.0 G116 G104 4% O -2 T 200 138.0 24.0
D4 D6 24 S+1 +5 140 120.0 42.0 J2 J9 3v S= &A 140 124.0 38.0
B5 B8 24 N+1 a7 140 120.0 42.0 Ad Al4 24 N +1 +3 140 124.0 38.0
H6 H9 34 S= +8 140 120.0 42.0 D6 D1 34 N= +3 140 124.0 38.0
H7 H3 34 S= +5 140 120.0 42.0 B10 B8 34 N= +3 140 124.0 38.0
D9 D3 34 S= vA 140 120.0 42.0 All A8 34 N= *4 140 124.0 38.0
All A8 24 N +1 v8 140 120.0 42.0 E16 E12 34 N= +3 140 124.0 38.0
E13 E5 24 S+1 +9 140 120.0 42.0 c28 C5 34 N= +3 140 124.0 38.0
Cl14 C7 34 S= +8 140 120.0 42.0 G102 G106 34 N= +3 140 124.0 38.0
J14 J12 24 N+1 v6 140 120.0 42.0 G113 G105 3v S= &A 140 124.0 38.0
E16 E12 24 S+1 vA 140 120.0 42.0 A2 A22 24 N= +3 110 111.0 51.0
E17 E8 24 S+1 vA 140 120.0 42.0 J10 J16 24 N= +3 110 111.0 51.0
F18 F8 34 S= +5 140 120.0 42.0 C14 C7 24 N= &K 110 111.0 51.0
C19 Cl8 34 S= v7 140 120.0 42.0 E17 E8 24 N= +3 110 111.0 51.0
G107 G109 24 S+1 v7 140 120.0 42.0 Al5 Al10 3#0-1 aT 100 106.0 56.0
G112 G103 34 S= v7 140 120.0 42.0 D2 D3 2¢ N= +3 90 104.0 58.0
G114 G111 34 N= +9 140 120.0 42.0 Al A20 34 N-1 +3 -100 73.0 89.0
J2 J9 INS+1 +8 120 85.0 77.0 B2 B3 34 N-1 &K -100 73.0 89.0
C3 Cl1 INS+1 +5 120 85.0 77.0 F2 F9 44 N-1 +3 -100 73.0 89.0
E3 E7 INS+1 +5 120 85.0 77.0 A3 Al2 44 N-1 +3 -100 73.0 89.0
A5 Al6 2N S = +5 120 85.0 77.0 C4 Cl10 4v S-1 &A -100 73.0 89.0
B9 B3 INS+1 +5 120 85.0 77.0 F4 F3 4v S-1 &A -100 73.0 89.0
Al13 A9 INS+1 +5 120 85.0 77.0 H4 H11 34 N-1 +6 -100 73.0 89.0
C13 Cl INS+1 +5 120 85.0 77.0 A5 Al6 34 N-1 +3 -100 73.0 89.0
F13 F5 INS+1 +8 120 85.0 77.0 B5 B7 4v S-1 &A -100 73.0 89.0
J13 J5 INS+1 v7 120 85.0 77.0 B6 Bl 44 N-1 +3 -100 73.0 89.0
F15 F6 INS+1 +5 120 85.0 77.0 H7 H3 44 N-1 +3 -100 73.0 89.0
Cc23 C2 2NS= +5 120 85.0 77.0 B9 B4 34 N-1 +3 -100 73.0 89.0
c27 Cl7 INS+1 +5 120 85.0 77.0 F10 F16 34 N-1 &K -100 73.0 89.0
G102 G106 INS+1 v7 120 85.0 77.0 E11 El 34 N-1 +3 -100 73.0 89.0
G113 G105 INS+1 +5 120 85.0 77.0 F11 F7 44 N-1 +3 -100 73.0 89.0
G115 G110 2N S= +8 120 85.0 77.0 E13 E5 34 N-1 +3 -100 73.0 89.0
G116 G104 2N S= v7 120 85.0 77.0 F13 F5 44 N-1 +3 -100 73.0 89.0
11 112 24 S= &5 110 65.0 97.0 E14 E10 44 N-1 +3 -100 73.0 89.0
A2 A22 24 S= +8 110 65.0 97.0 F14 F12 44 N-1 +3 -100 73.0 89.0
B10 B7 24 N= v8 110 65.0 97.0 J14 J12 34 N-1 &K -100 73.0 89.0
111 14 24 S= &5 110 65.0 97.0 F15 F6 34 N-1 +3 -100 73.0 89.0
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D1 D2 INS= v7 90 51.0 111.0 Ji5 J6 34 N-1 +3 -100 73.0 89.0
F2 F9 INN= 5 90 51.0 111.0 F17 F1 34 N-1 ¢3 -100 73.0 89.0
C6 Cl15 INS= +5 90 51.0 111.0 Al18 Al7 34 N-1 +3 -100 73.0 89.0
A7 A21 INS= ¢5 90 51.0 111.0 F18 F8 44 N-1 +3 -100 73.0 89.0
F10 F16 INS= +8 90 51.0 111.0 C19 Cl18 34 N-1 ¢3 -100 73.0 89.0
F14 F12 INS= ¢5 90 51.0 111.0 C20 C24 34 N-1 +3 -100 73.0 89.0
Al5 Al0 INS= +8 90 51.0 111.0 C21 Cl6 4v S-1 *A -100 73.0 89.0
C20 C24 INS= 5 90 51.0 111.0 C22 C26 34 N-1 +3 -100 73.0 89.0
Cc21 Cl6 INS= +5 90 51.0 111.0 G114 G111 3¢ S-1 &A -100 73.0 89.0
C22 C26 INN-= v6 90 51.0 111.0 C3 Cll 54 N-2 &K -200 25.0 137.0
12 I8 44 S-1 49 -50 23.0 139.0 J4 J3 44 N-2 ¢3 -200 25.0 137.0
Ad Al4 24 S-1 +5 -50 23.0 139.0 A6 Al9 34 N-2 &K -200 25.0 137.0
C4 C10 44 N-1 vA -50 23.0 139.0 H6 H9 34 N-2 *3 -200 25.0 137.0
H4 H1l 44 S-1 46 -50 23.0 139.0 A7 A21 44 N-2 *K -200 25.0 137.0
J4 J3 2NN-1 &7 -50 23.0 139.0 H8 H10 44 N-2 +3 -200 25.0 137.0
A6 Al9 2NS-1 ¢5 -50 23.0 139.0 C9 Cl2 2NN-2 &T -200 25.0 137.0
E6 E19 2NS-1 +8 -50 23.0 139.0 110 I8 34 N-2 +3 -200 25.0 137.0
C9 Cl12 2NS-1 L) -50 23.0 139.0 111 I5 44 N-2 &T -200 25.0 137.0
D10 D7 44 S-1 v7 -50 23.0 139.0 Ji1 J7 44 N-2 +3 -200 25.0 137.0
Ell El 24 N-1 *7 -50 23.0 139.0 H13 H5 44 N-2 ¢3 -200 25.0 137.0
Jil J7 24 N-1 v8 -50 23.0 139.0 J13 J5 44 N-2 +3 -200 25.0 137.0
H12 H14 2NS-1 +8 -50 23.0 139.0 E20 E9 44 N-2 +3 -200 25.0 137.0
H13 H5 3NS-1 ¢5 -50 23.0 139.0 C23 C2 44 N-2 ¢3 -200 25.0 137.0
El4 E10 INS-1 +J -50 23.0 139.0 C27 C17 34 N-2 +3 -200 25.0 137.0
E15 E4 34 S-1 v7 -50 23.0 139.0 G101 G108 44 N-2 *3 -200 25.0 137.0
F17 F1 INS-1 5 -50 23.0 139.0 G112 G103 44 N-2 *K -200 25.0 137.0
Ji7 Jl 44 S-1 +8 -50 23.0 139.0 G115 G110 44 N-2 +3 -200 25.0 137.0
C28 C5 34 S-1 9 -50 23.0 139.0 H1 H2 44 N-3 *3 -300 3.0 159.0
H1 H2 44 S-2 v7 -100 2.0 160.0 C6 C15 54 N-3 *K -300 3.0 159.0
B4 B6 34 S-2 +5 -100 2.0 160.0 D9 D4 3NN -3 &K -300 3.0 159.0
Ji5 J6 44 S-2 +8 -100 2.0 160.0 112 12 34 N-3 +3 -300 3.0 159.0
D5 - 96.4 - 14 87.3
- 13 108.5 D10 - 85.3
11 aD Béasta kontrakt 12 4 Kn108632 Béasta kontrakt
Syd v K872 34 V =-140 Vast v K42 2¢ V =-90
Ingen 4109832 NS + K763
*E74 & ¢ v & NT »- & ¢ v & NT
4 EKN98543 472 N56 7 34 4EKD97 &- N7586 65
v 95 v DKn3 S567 34 vD3 v Kn1087 S75665
¢ KKn75 +E6 08659 8 ¢ ED2 ¢ Kn10985 067667
*- #KDKn853 V86598 #K105  #Kn742 Vve68777
K106 54
vE1064 v E965
¢+ D4 ¢4
#10962 #ED9863
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D5 D7 3NO-4 vA 200 162.0 0.0 H7 H10 34DV -4 +3 800 161.0 1.0
H1 H14 44 V-3 ¢2 150 158.0 4.0 111 I5 34DV -4 +3 800 161.0 10
C5 Cll1 2NO-3 v4 150 158.0 4.0 Al Al9 44 V-5 v2 250 154.0 8.0
111 I5 3#0-3 ¢+ Q 150 158.0 4.0 I3 11 34 V-5 vK 250 154.0 8.0
C1 Cl4 4a V-2 oT 100 141.0 21.0 F13 F6 5¢ O-5 &A 250 154.0 8.0
F2 F17 44 V-2 v2 100 141.0 21.0 H13 H6 34 V-5 +6 250 154.0 8.0
A5 Al5 4a V-2 «Q 100 141.0 21.0 C22 C2 34 V-5 v2 250 154.0 8.0
J5 J4 4e V-2 *T 100 141.0 21.0 Cl Cl4 34 V-4 +6 200 138.0 24.0
B9 B4 4a V-2 oT 100 141.0 21.0 A2 A21 24 V-4 *7 200 138.0 24.0
H9 H11l 4e V-2 oT 100 141.0 21.0 A3 All 24 V-4 +6 200 138.0 24.0
C10 C24 4a V-2 v7 100 141.0 21.0 B6 Bl 24 V-4 v2 200 138.0 24.0
E10 E20 4e V-2 *A 100 141.0 21.0 B9 B4 3NV-4 *3 200 138.0 24.0
F12 F8 4e V-2 oT 100 141.0 21.0 B10 B8 24 V-4 +6 200 138.0 24.0
C16 C6 4e V-2 *T 100 141.0 21.0 110 18 24 V-4 +3 200 138.0 24.0
E18 E3 4a V-2 *2 100 141.0 21.0 C21 Cl8 24 V-4 ¢+ K 200 138.0 24.0
C20 C25 44 V-2 *A 100 141.0 21.0 G101 G104 44 V-4 v2 200 138.0 24.0
G111 G115 3NO-2 v4 100 141.0 21.0 G111 G115 3v V-4 LN 200 138.0 24.0
G113 G106 44 V-2 +8 100 141.0 21.0 G113 G106 4v V-4 a5 200 138.0 24.0
A2 A21 44 V-1 *A 50 93.0 69.0 B2 B3 24 V-3 +6 150 114.0 48.0
H2 H3 4e V-1 &A 50 93.0 69.0 E4 E8 24 V-3 v2 150 114.0 48.0
J2 J17 34 V-1 oT 50 93.0 69.0 C5 Cll 1la V-3 v4 150 114.0 48.0
C3 Cl13 44 V-1 *A 50 93.0 69.0 H5 H12 3« V-3 +6 150 114.0 48.0
B5 B7 44 V-1 v2 50 93.0 69.0 C8 C26 34 V-3 v2 150 114.0 48.0
F5 F4 44 V-1 v7 50 93.0 69.0 C10 C24 3NO-3 v5 150 114.0 48.0
H5 H12 44 V-1 oT 50 93.0 69.0 E1l4 E1ll 44 0-3 *4 150 114.0 48.0
D6 D1 44 V-1 «Q 50 93.0 69.0 E15 E5 34 V-3 v2 150 114.0 48.0
A7 A20 44 V-1 v7 50 93.0 69.0 Cl6 C6 3NO-3 *Q 150 114.0 48.0
H7 H10 34 V-1 oT 50 93.0 69.0 J16 J11 24 V-3 v2 150 114.0 48.0
17 16 44 V-1 *T 50 93.0 69.0 E17 E9 44 V-3 v2 150 114.0 48.0
A8 A22 44 V-1 oT 50 93.0 69.0 C20 C25 1a V-3 v4 150 114.0 48.0
H8 H4 4e V-1 *A 50 93.0 69.0 G108 G110 4¢ O-3 *A 150 114.0 48.0
C9 Cl9 4e V-1 &A 50 93.0 69.0 C3 Cl3 1la V-2 v2 100 90.0 72.0
B10 B8 3NO-1 v6 50 93.0 69.0 F3 F10 3¢ O-2 LE] 100 90.0 72.0
Al2 A9 4e V-1 v2 50 93.0 69.0 J3 J10 3¢ O-2 *A 100 90.0 72.0
E12 E2 44 V-1 *A 50 93.0 69.0 J5 J4 2NV -2 s 100 90.0 72.0
112 12 44 V-1 +8 50 93.0 69.0 17 16 2NV -2 3 100 90.0 72.0
Ji2 J8 44 V-1 oT 50 93.0 69.0 A8 A22 3NO-2 v5 100 90.0 72.0
F13 F6 4e V-1 *T 50 93.0 69.0 F12 F8 24 V-2 s 100 90.0 72.0
Ji3 J6 4a V-1 oT 50 93.0 69.0 C15 C27 24 V-2 3 100 90.0 72.0
Al4 Al0 44 V-1 *A 50 93.0 69.0 Al7 Al6 24 V-2 ¢3 100 90.0 72.0
F14 Fl1 4a V-1 v7 50 93.0 69.0 F18 F9 la V-2 +3 100 90.0 72.0
C15 C27 4a4 V-1 v2 50 93.0 69.0 E19 E7 34 V-2 vK 100 90.0 72.0
E15 E5 44 V-1 *A 50 93.0 69.0 Cc7 Cl2 2NV -1 +3 50 69.0 93.0
Al7 Al6 4a V-1 oT 50 93.0 69.0 H8 H4 2NV -1 a2 50 69.0 93.0
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E17 E9 34 V-1 *A 50 93.0 69.0 D9 D4 1s V-1 v2 50 69.0 93.0
A18 A6 3N O-1 v4 50 93.0 69.0 E10 E20 2NV -1 a2 50 69.0 93.0
J18 J9 34 V-1 *T 50 93.0 69.0 J12 J8 2NV -1 46 50 69.0 93.0
c21 C18 34 V-1 *T 50 93.0 69.0 E13 E6 1a V-1 v2 50 69.0 93.0
C22 C2 44 V-1 &A 50 93.0 69.0 F16 F11 24 V-1 v2 50 69.0 93.0
C28 C23 44 V-1 *T 50 93.0 69.0 E18 E3 3NO-1 &3 50 69.0 93.0
G102 G109 44 V-1 *T 50 93.0 69.0 C28 C23 2NO-1 aJ 50 69.0 93.0
G114 G112 44 V-1 *T 50 93.0 69.0 G102 G109 2NV-1 aJ 50 69.0 93.0
E4 E8 24 V= v2 -110 57.0 105.0 E12 E2 la V= +3 -80 58.0 104.0
G101 G104 24 V= v2 -110 57.0 105.0 Al4 Al10 2¢ O= *A -90 55.0 107.0
D2 D3 24 V+1 *T -140 46.0 116.0 J14 J1 INV= 46 -90 55.0 107.0
110 I8 34 V= *T -140 46.0 116.0 Al18 A6 3#S-1 s A -100 52.0 110.0
H13 H6 34 V= 2 -140 46.0 116.0 F14 F1 3¢ O= v4 -110 50.0 112.0
E14 E11l 24 V +1 &A -140 46.0 116.0 H1 H14 2NV = a2 -120 39.0 123.0
F15 F7 34 V= *T -140 46.0 116.0 D2 D3 2NV = +3 -120 39.0 123.0
J15 J7 34 V= v2 -140 46.0 116.0 D5 D7 2NV = a2 -120 39.0 123.0
J16 J11 24 V+1 v7 -140 46.0 116.0 A7 A20 2NV = 46 -120 39.0 123.0
F18 F9 24 V +1 *T -140 46.0 116.0 C9 C19 2NV = a2 -120 39.0 123.0
G108 G110 34 V= *A -140 46.0 116.0 Al12 A9 2NO = &3 -120 39.0 123.0
Al Al19 34 V+1 &A -170 33.0 129.0 J15 J7 2NV = 48 -120 39.0 123.0
13 11 24 V +2 LY -170 33.0 129.0 G103 G107 2NV = aJ -120 39.0 123.0
C4 C17 24 V +2 &7 -170 33.0 129.0 G105 G116 2NV = a2 -120 39.0 123.0
G105 G116 34 V +1 *T -170 33.0 129.0 G114 G112 2NV = aJ -120 39.0 123.0
J3 J10 34 V+2 &A -200 27.0 135.0 H9 H11 2NV +1 aJ -150 28.0 134.0
A4 Al3 24 V+3 &A -200 27.0 135.0 H2 H3 2NV +2 aJ -180 24.0 138.0
A3 All 44 V= v7 -420 14.0 148.0 C4 C17 2NV +2 a2 -180 24.0 138.0
F3 F10 44 V= &A -420 14.0 148.0 E16 E1 2NV +2 aT -180 24.0 138.0
B6 Bl 44 V= *A -420 14.0 148.0 F2 F17 34 N-2 +5 -200 20.0 142.0
C7 Cl2 44 V= &A -420 14.0 148.0 A4 Al13 3NO= v6 -400 12.0 150.0
C8 C26 44 V= *T -420 14.0 148.0 A5 Al5 3NV = 46 -400 12.0 150.0
E13 E6 4e V= *A -420 14.0 148.0 B5 B7 3NO= &8 -400 12.0 150.0
J14 J1l 4e V= &A -420 14.0 148.0 D6 D1 3NV= a2 -400 12.0 150.0
E16 El 44 V= &A -420 14.0 148.0 112 12 3NV= +6 -400 12.0 150.0
F16 F11 4e V= v7 -420 14.0 148.0 F15 F7 3NV = a2 -400 12.0 150.0
E19 E7 44 V= v8 -420 14.0 148.0 J18 J9 3NO = &8 -400 12.0 150.0
G103 G107 44 V= *T -420 14.0 148.0 F5 F4 24D N-2 +6 -500 3.0 159.0
B2 B3 4e V+1 &A -450 1.0 161.0 J13 J6 3ND N -2 vJ] -500 3.0 159.0
D9 D4 44 V +1 &A -450 1.0 161.0 J2 J17 34DN-3 +J -800 0.0 162.0
- 14 87.3 - 14 87.3
D10 - 85.3 D10 - 85.3
13  Kn9g4 Basta kontrakt 14 «D3 Basta kontrakt
Nord v93 5¢v O =-650 Ost vED743 4v S =420
Alla + K10864 Ingen + D8654
»65 & ¢ v & NT &E & ¢ v & NT
410 & EK3 N16061 474 4 EKn10 N 4 9 109 6
vE754 v KKn1082 S16061 v Kn82 v 105 S 4 9 109 6
¢ 752 + Kn3 O 116 116 8 4932 + EK10 084346
#DKn742 #EKS8 V 116 116 8 #KKn764 #D10953 V84346
« D7652 # K98652
vD6 v K96
+ ED9 ¢ Kn7
#1093 £82
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G102 G105 3v O+1 @2 -170 162.0 0.0 C5 C13 54D O -3 vK 500 162.0 0.0
E11 E20 INO +3 +9 -180 159.0 3.0 El E3 4y N= ¢+ K 420 149.0 13.0
C23 C17 2NV +2 *4 -180 159.0 3.0 H3 H4 4v N = ¢ A 420 149.0 13.0
E8 E19 3v O+2 ¢ A -200 156.0 6.0 C6 C18 4v N= *A 420 149.0 13.0
F18 F10 1v O +6 LY -260 152.0 10.0 J6 J5 4y N= ¢ A 420 149.0 13.0
G104 G108 3v O +4 a2 -260 152.0 10.0 E7 E13 4v N= ¢ A 420 149.0 13.0
G116 G106 1v O +6 @2 -260 152.0 10.0 112 I3 4v N= ¢+K 420 149.0 13.0
E16 E2 4v O = +9 -620 146.0 16.0 F16 F12 4v N= ¢ A 420 149.0 13.0
J16 J12 4v O = ¢ A -620 146.0 16.0 J18 J10 4v N= ¢ A 420 149.0 13.0
G101 G114 4v O = +9 -620 146.0 16.0 c21 C9 4v N= ¢ A 420 149.0 13.0
D7 D2 3NO +1 LY -630 142.0 20.0 Cc27 Cl6 44 S= &K 420 149.0 13.0
11 110 4v O +1 +9 -650 127.0 35.0 G109 G111 4v N= ¢ A 420 149.0 13.0
D3 D4 4v O +1 ¢ A -650 127.0 35.0 G116 G106 4v N = ¢ A 420 149.0 13.0
A4 Al2 4v O +1 ¢ A -650 127.0 35.0 E16 E2 2N O -4 v9 200 136.0 26.0
C6 C18 4v O +1 ¢ A -650 127.0 35.0 11 110 2v N +2 ¢ A 170 119.0 43.0
H8 H11 4v O +1 ¢ A -650 127.0 35.0 A2 A20 3v N+1 ¢ A 170 119.0 43.0
C10 C25 4v O +1 ¢ A -650 127.0 35.0 A4 Al2 3v N+1 ¢ A 170 119.0 43.0
H10 H12 4v O +1 ¢ A -650 127.0 35.0 J4 J11 2v N+2 ¢ A 170 119.0 43.0
F14 F2 4y O +1 ¢ A -650 127.0 35.0 J7 J13 3v N+1 ¢A 170 119.0 43.0
E15 E6 4v O +1 ¢ A -650 127.0 35.0 A8 A21 3v S+1 ¢ A 170 119.0 43.0
F15 F8 4v O +1 a2 -650 127.0 35.0 18 17 3v N +1 ¢ A 170 119.0 43.0
J15 J8 4v O +1 ¢ A -650 127.0 35.0 H9 H5 24 S +2 +9 170 119.0 43.0
F17 F3 4y O +1 ¢ A -650 127.0 35.0 H10 H12 1v N +3 ¢ A 170 119.0 43.0
c21 C9 4v O+1 ¢ A -650 127.0 35.0 111 16 2v N +2 ¢ A 170 119.0 43.0
G109 G111 4v O +1 ¢ A -650 127.0 35.0 Al13 A10 3v N+1 *9 170 119.0 43.0
Ji J9 4v O +2 ¢ A -680 106.0 56.0 Ci14 C3 3vy N+1 ¢ A 170 119.0 43.0
J4 J11 4v O +2 46 -680 106.0 56.0 E14 E12 3v N+1 *Q 170 119.0 43.0
J6 J5 4v O +2 a5 -680 106.0 56.0 J16 J12 3v N+1 ¢ A 170 119.0 43.0
18 17 4v O +2 &T -680 106.0 56.0 A19 A7 2v N+2 ¢ A 170 119.0 43.0
E14 E12 4v O +2 45 -680 106.0 56.0 G104 G108 3v N +1 ¢+ K 170 119.0 43.0
F16 F12 4v O +2 a2 -680 106.0 56.0 C7 C19 3NO-3 vK 150 101.0 61.0
C20 C26 4v O +2 LY -680 106.0 56.0 E18 E4 5# 0O-3 v6 150 101.0 61.0
C28 C22 3NO+3 a2 -690 98.0 64.0 F4 F11 3v N= &3 140 90.0 72.0
B1 B10 5v O +2 a2 -710 49.0 113.0 A5 Al4 2v N +1 ¢ A 140 90.0 72.0
D1 D10 4v V +3 LY -710 49.0 113.0 F6 F5 3v N= v5 140 90.0 72.0
El E3 4v O +3 45 -710 49.0 113.0 B7 B2 24 S+1 v2 140 90.0 72.0
F1 F9 4y O +3 &T -710 49.0 113.0 B9 B5 24 S+1 *K 140 90.0 72.0
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A2 A20 4v O +3 a7 -710 49.0 113.0 E11 E20 3v N= &9 140 90.0 72.0
A3 A22 4v O +3 a2 -710 49.0 113.0 J14 J2 3v N= *K 140 90.0 72.0
B3 B4 4v O +3 a5 -710 49.0 113.0 G103 G110 2v N +1 *A 140 90.0 72.0
H3 H4 4v O +3 a5 -710 49.0 113.0 G112 G115 34 S= vJ 140 90.0 72.0
C4 C15 4y O +3 a5 -710 49.0 113.0 F7 F13 2v N= *A 110 80.0 82.0
F4 F11 4v O +3 a7 -710 49.0 113.0 F1 F9 44 O -2 v6 100 72.0 90.0
14 12 4v O +3 a2 -710 49.0 113.0 A3 A22 54 0 -2 v6 100 72.0 90.0
A5 Al4 4v O +3 a2 -710 49.0 113.0 14 12 5% 0O -2 a2 100 72.0 90.0
C5 Cl13 4v O +3 &T -710 49.0 113.0 H6 H1 4% O-2 v6 100 72.0 90.0
E5 E9 4v O+3 &T -710 49.0 113.0 E8 E19 44 O-2 v9 100 72.0 90.0
A6 Al7 4v O +3 a2 -710 49.0 113.0 J15 J8 5& V-2 *J 100 72.0 90.0
B6 B8 4v O +3 &9 -710 49.0 113.0 A18 Al 44 0-2 a5 100 72.0 90.0
F6 F5 4v O +3 &T -710 49.0 113.0 D3 D4 34 0O-1 vK 50 56.0 106.0
H6 H1 4v O +3 46 -710 49.0 113.0 E5 E9 44 0-1 46 50 56.0 106.0
B7 B2 4v O +3 46 -710 49.0 113.0 A9 All 3& V-1 +5 50 56.0 106.0
Cc7 C19 4v O +3 46 -710 49.0 113.0 Fl14 F2 44 V-1 vA 50 56.0 106.0
E7 E13 4v O +3 a2 -710 49.0 113.0 E15 E6 34 0-1 v6 50 56.0 106.0
F7 F13 4v O +3 a2 -710 49.0 113.0 F17 F3 44 V-1 vA 50 56.0 106.0
J7 J13 4v O +3 a5 -710 49.0 113.0 Cc20 C26 44 O-1 a2 50 56.0 106.0
A8 A21 4v V +3 a2 -710 49.0 113.0 G102 G105 4# O-1 v6 50 56.0 106.0
Cc8 C2 4v O +3 a2 -710 49.0 113.0 G113 G107 4% O-1 v6 50 56.0 106.0
A9 All 4y O +3 a5 -710 49.0 113.0 B1 B10 4v N-1 *A -50 38.0 124.0
B9 B5 4v O +3 a2 -710 49.0 113.0 D7 D2 2v N-1 &9 -50 38.0 124.0
D9 D5 4y O +3 46 -710 49.0 113.0 H8 H11 3v N-1 *A -50 38.0 124.0
H9 H5 4v O +3 &T -710 49.0 113.0 C10 C25 3v N-1 *A -50 38.0 124.0
c11 C24 4y O +3 a2 -710 49.0 113.0 H13 H7 44 S-1 v2 -50 38.0 124.0
111 16 44 O +3 46 -710 49.0 113.0 Al6 Al5 44 S-1 &4 -50 38.0 124.0
C12 Cl 4v O+3 &T -710 49.0 113.0 Ji7 J3 44 S-1 &4 -50 38.0 124.0
112 I3 4v O+3 &T -710 49.0 113.0 F18 F10 44 S-1 &K -50 38.0 124.0
Al13 Al10 4v O +3 &T -710 49.0 113.0 c23 Cl7 4v N-1 *A -50 38.0 124.0
H13 H7 4v O +3 &9 -710 49.0 113.0 D1 D10 44DS-1 &4 -100 23.0 139.0
Cl14 C3 4v O +3 &T -710 49.0 113.0 J1 J9 3v N-2 &3 -100 23.0 139.0
H14 H2 4y O +3 &T -710 49.0 113.0 B3 B4 44 N -2 &J -100 23.0 139.0
J14 J2 4v O+3 &T -710 49.0 113.0 B6 B8 4vDN-1 *A -100 23.0 139.0
E17 E10 4v O +3 &T -710 49.0 113.0 Cc8 C2 44 S-2 &K -100 23.0 139.0
Ji7 J3 4v O+3 a2 -710 49.0 113.0 E17 E10 4v N-2 *A -100 23.0 139.0
Al18 Al 4v O +3 a2 -710 49.0 113.0 A6 Al7 3& V= «Q -110 13.0 149.0
E18 E4 4v O +3 +9 -710 49.0 113.0 c1 C24 34 0= v6 -110 13.0 149.0
Ji8 J10 4v O +3 46 -710 49.0 113.0 H14 H2 2# O +1 *J -110 13.0 149.0
A19 A7 4v O +3 49 -710 49.0 113.0 c28 C22 34 0= &8 -110 13.0 149.0
c27 Cl16 4y O +3 &»T -710 49.0 113.0 G101 G114 INO+1 a2 -120 8.0 154.0
G103 G110 4v O +3 a5 -710 49.0 113.0 D9 D5 4v N-3 &5 -150 5.0 157.0
G112 G115 4v O +3 &T -710 49.0 113.0 F15 F8 2N O +1 *J -150 5.0 157.0
G113 G107 4v O +3 a2 -710 49.0 113.0 C12 Cl 44DS-2 &4 -300 2.0 160.0
Al6 Al5 6v O +1 a5 -1460 0.0 162.0 C4 Cl15 3NO= a2 -400 0.0 162.0
D6 - 80.0 D6 - 80.0
- 15 49.0 - 15 49.0
15 « EK105 Basta kontrakt 16 49 Basta kontrakt
Syd v KD6 24 V =-110 Vast v K10 44 V D -1 200
NS +95 ov ¢ KKn10843
#D1073 & ¢ v & NT #E1075 &0 & NT
4 DKn976 4843 N8 6 557 4 D106543 & EKKn87 N 101 4 5
vE1085 v9742 S86 557 v74 vD93 S 101 4 5
¢ E7 + DKn862 057 885 +76 + ED2 023 9 3
&EK »2 V57885 #3843 »D6 vV 2 3 9 3
a2 a2
vKn3 v EKn8652
¢ K1043 495
#Kn98654 &KKn92
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
G115 G101 3«DN +1 a3 870 162.0 0.0 Ji7 J4 5vDS= 46 650 162.0 0.0
H7 H2 44DV -3 &3 500 160.0 2.0 J2 J10 4vDS= «Q 590 158.0 4.0
14 12 34DV -2 &3 300 158.0 4.0 F15 F9 4¢DS= a3 590 158.0 4.0
18 17 34 V-3 &Q 150 153.0 9.0 G107 G116 4vDS= a4 590 158.0 4.0
J14 J3 INN+2 a3 150 153.0 9.0 G103 G106 4¢DN= s A 510 154.0 8.0
Cc23 C15 4v V-3 &3 150 153.0 9.0 C1 Cl19 54D O -2 49 500 152.0 10.0
c28 C8 4v V-3 &K 150 153.0 9.0 B8 B3 4v S= a5 420 149.0 13.0
F2 F10 34 S= *A 110 142.0 20.0 Al5 Al4 4y S= a3 420 149.0 13.0
J2 J10 3& N = 48 110 142.0 20.0 E1l E14 44RD O +9 400 146.0 16.0
E6 E10 34 S= «Q 110 142.0 20.0 12 110 54 O -2 +9 200 140.0 22.0
E9 E19 34 S= *A 110 142.0 20.0 A5 Al3 54 O-2 vA 200 140.0 22.0
H14 H3 24 S +1 &K 110 142.0 20.0 C5 Cl4 54 V-2 &A 200 140.0 22.0
EL17 E1l 2% S+1 v5 110 142.0 20.0 A10 Al2 44D O-1 K 200 140.0 22.0
Cc18 C27 3« N= 48 110 142.0 20.0 F16 F1 54 V-2 vK 200 140.0 22.0
E2 E4 2v V-2 &3 100 124.0 38.0 D2 D10 3v S+1 a3 170 134.0 28.0
C6 C9 34 V-2 &Q 100 124.0 38.0 C7 C21 44 N+1 *A 150 131.0 31.0
D7 D2 44 V-2 v6 100 124.0 38.0 G113 G108 4& N +1 s A 150 131.0 31.0
A9 A22 34 V-2 &3 100 124.0 38.0 E6 E10 3v S= a3 140 128.0 34.0
B9 B5 3v V-2 &3 100 124.0 38.0 F5 F12 4« N= s A 130 125.0 37.0
F15 F9 34 V-2 &3 100 124.0 38.0 H13 H8 4& N = s A 130 125.0 37.0
F16 F1 4v O-2 a2 100 124.0 38.0 11 18 44 V-1 49 100 92.0 70.0
J16 J1l 34 V-2 vK 100 124.0 38.0 E2 E4 44 O-1 vA 100 92.0 70.0
G104 G111 4vDV-1 &3 100 124.0 38.0 F2 F10 34 V-1 vK 100 92.0 70.0
G105 G109 4e V-2 +9 100 124.0 38.0 C3 Cl2 44 V-1 vK 100 92.0 70.0
G110 G112 44 V-2 +9 100 124.0 38.0 Ad All 44 V-1 &A 100 92.0 70.0
C5 Cl4 INN= a3 90 112.0 50.0 B4 B5 44 O-1 +5 100 92.0 70.0
D1 D10 4v V-1 a A 50 100.0 62.0 H4 H5 4a V-1 vK 100 92.0 70.0
E1l E14 INV-1 &K 50 100.0 62.0 B7 Bl 44 O-1 +9 100 92.0 70.0
D3 D4 24 V-1 &3 50 100.0 62.0 F7 F6 44 O-1 +9 100 92.0 70.0
H4 H5 24 V-1 +9 50 100.0 62.0 H7 H2 44 O-1 +9 100 92.0 70.0
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A5 Al3 34 V-1 +9 50 100.0 62.0 17 111 44 O-1 +9 100 92.0 70.0
A7 Al8 44 O-1 &7 50 100.0 62.0 J7 J6 44 O-1 +9 100 92.0 70.0
B7 B2 44 V-1 vK 50 100.0 62.0 B9 B6 44 O-1 +9 100 92.0 70.0
D9 D5 3v V-1 4 A 50 100.0 62.0 D9 D6 44 O-1 +5 100 92.0 70.0
A15 Ald 24 V-1 vK 50 100.0 62.0 H9 H12 44 O-1 vA 100 92.0 70.0
E16 E3 34 V-1 +9 50 100.0 62.0 H10 H6 44 O-1 +5 100 92.0 70.0
J17 J4 1la V-1 +9 50 100.0 62.0 H11l H1 44 O-1 +9 100 92.0 70.0
C1 C19 1a V= +9 -80 72.0 90.0 J11 Ji8 44 V-1 *A 100 92.0 70.0
11 110 1a V= +5 -80 72.0 90.0 112 14 44 O-1 +8 100 92.0 70.0
B3 B4 1la V= +9 -80 72.0 90.0 J15 J9 4e V-1 vK 100 92.0 70.0
C3 Cl2 1se V= &7 -80 72.0 90.0 C16 C4 44 O-1 +5 100 92.0 70.0
B6 B8 1a V= vK -80 72.0 90.0 J16 J1 44 O-1 +9 100 92.0 70.0
F7 F6 14 V= +9 -80 72.0 90.0 C17 C24 44 O-1 +9 100 92.0 70.0
F8 F13 l1la V= +9 -80 72.0 90.0 C18 C27 44 O-1 vA 100 92.0 70.0
H9 H12 1 V= +9 -80 72.0 90.0 E18 E5 44 O-1 +9 100 92.0 70.0
A10 Al2 1e V= +9 -80 72.0 90.0 A19 A2 44 O-1 +9 100 92.0 70.0
H10 H6 14 V= +5 -80 72.0 90.0 A20 A8 44 V-1 &7 100 92.0 70.0
Ci11 C25 1a V= +5 -80 72.0 90.0 C20 C2 44 V-1 *A 100 92.0 70.0
J11 J18 1a V= v6 -80 72.0 90.0 C22 C13 44 V-1 *A 100 92.0 70.0
C16 C4 14 O= +9 -80 72.0 90.0 G110 G112 44 V-1 vK 100 92.0 70.0
C17 C24 1a V= *7 -80 72.0 90.0 G115 G101 44 O-1 vA 100 92.0 70.0
C20 C2 1la V= vK -80 72.0 90.0 B2 B10 5v S-1 &8 -50 55.0 107.0
E20 E12 14 V= &3 -80 72.0 90.0 C6 C9 5¢ N-1 s A -50 55.0 107.0
G113 G108 14 V= +9 -80 72.0 90.0 F8 F13 4v S-1 *7 -50 55.0 107.0
F11 F18 2N N-1 48 -100 54.0 108.0 E9 E19 5¢ N-1 s A -50 55.0 107.0
A4 All 1e V+1 v6 -110 33.0 129.0 E13 E8 5&S-1 45 -50 55.0 107.0
F5 F12 1a V +1 +9 -110 33.0 129.0 C28 C8 5 N-1 LY -50 55.0 107.0
Cc7 C21 1a V+1 v6 -110 33.0 129.0 15 I3 5¢DS-1 4 A -100 41.0 121.0
J7 J6 24 V= &3 -110 33.0 129.0 A7 Al18 5&D N -1 s A -100 41.0 121.0
J8 J13 14 V+1 +9 -110 33.0 129.0 A9 A22 5¢DN-1 s A -100 41.0 121.0
C10 C26 1s V+1 +9 -110 33.0 129.0 F11 F18 5¢DS-1 43 -100 41.0 121.0
H11 H1 1a V+1 +9 -110 33.0 129.0 F14 F3 4v S-2 +Q -100 41.0 121.0
112 13 1a V+1 &7 -110 33.0 129.0 J14 J3 5¢DN-1 s A -100 41.0 121.0
E13 E8 1a V+1 +9 -110 33.0 129.0 G104 G111 5vDS-1 45 -100 41.0 121.0
H13 H8 1a V +1 +9 -110 33.0 129.0 G105 G109 5vDS-1 43 -100 41.0 121.0
F14 F3 1a V+1 +9 -110 33.0 129.0 D7 D1 24 O= vA -110 32.0 130.0
E15 E7 1la V+1 v6 -110 33.0 129.0 A3 A21 34 V= vK -140 20.0 142.0
A17 Al 1a V+1 +9 -110 33.0 129.0 D4 D5 34 O= +9 -140 20.0 142.0
F17 F4 1a V+1 v6 -110 33.0 129.0 J5 J12 34 O= vA -140 20.0 142.0
E18 E5 2v V= &7 -110 33.0 129.0 J8 J13 34 V= vK -140 20.0 142.0
A20 A8 24 V= +9 -110 33.0 129.0 C10 C26 24 V+1 &A -140 20.0 142.0
C22 Cl13 2v V= s A -110 33.0 129.0 Ci11 C25 34 O= vA -140 20.0 142.0
G102 G114 1a V +1 +9 -110 33.0 129.0 H14 H3 34 O= +9 -140 20.0 142.0
G103 G106 1a V +1 +9 -110 33.0 129.0 E15 E7 34 O= vA -140 20.0 142.0
G107 G116 1s V +1 vK -110 33.0 129.0 E16 E3 34 O= +5 -140 20.0 142.0
111 16 INV +1 &K -120 12.0 150.0 E17 E1l 34 O= +9 -140 20.0 142.0
A3 A21 3v V= *Q -140 8.0 154.0 C23 C15 24 O+1 +9 -140 20.0 142.0
J5 J12 14 V +2 +9 -140 8.0 154.0 G102 G114 44 N-3 LY -150 8.0 154.0
J15 J9 1la V+2 vK -140 8.0 154.0 Al17 Al 5¢DN-2 s A -300 6.0 156.0
B1 B10 14 N-2 »2 -200 3.0 159.0 A6 Al6 4e V= vK -620 2.0 160.0
A19 A2 44D N-1 48 -200 3.0 159.0 F17 F4 44 O= +5 -620 2.0 160.0
A6 Al6 4&DN -2 48 -500 0.0 162.0 E20 E12 44 O= +5 -620 2.0 160.0
D6 - 80.0 - D3 84.1
- 15 49.0 - 16 73.6
17 4« EK1053 Basta kontrakt 18 41053 Basta kontrakt
Nord v D86 2¢ N =90 Ost v D953 ANT V =-430
Ingen ¢ E852 NS ¢ DKn2
&2 & ¢ v & NT &ED7 & ¢ v & NT
& Kn82 4 D764 N6 856 6 4 EKn74 4K82 N52 433
vKKn743 vE5 S6 8566 vK106 vEKn4 S$52 433
+ D63 + K9 06 5767 49653 ¢ EK87 O 8 109 108
*75 #ED1083 V657¢67 #K3 #982 vV 8 119 1010
9 « D96
v 1092 v 872
¢+ Kn1074 ¢ 104
#KKn964 #Kn10654
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
J6 J1 3NDO-3 49 500 161.0 1.0 A7 Al7 3NO-3 &J 150 157.0 5.0
C23 C16 4vDV-3 ¢ A 500 161.0 1.0 H12 H2 3NO-3 &4 150 157.0 5.0
B8 B3 34 O-5 2 250 158.0 4.0 C17 C25 3NO-3 &J 150 157.0 5.0
Ci11 C26 3% 0O-3 49 150 153.0 9.0 A21 A9 3N O-3 &5 150 157.0 5.0
J16 J2 3v V-3 s A 150 153.0 9.0 C22 Cl14 3NO-3 *6 150 157.0 5.0
C17 C25 3NV-3 & A 150 153.0 9.0 G111 G101 3NO-3 &J 150 157.0 5.0
Al18 A2 34 0-3 49 150 153.0 9.0 C1 C21 3NO-2 &4 100 125.0 37.0
C1 C21 2¢ N+1 vA 110 147.0 15.0 B2 B10 3NO-2 LN 100 125.0 37.0
C13 C24 2¢ N+1 vA 110 147.0 15.0 E3 E5 3NO-2 &5 100 125.0 37.0
11 18 3NV -2 4 A 100 126.0 36.0 B4 B5 3NO-2 &4 100 125.0 37.0
B2 B10 2N O -2 9 100 126.0 36.0 Ja Ji4 3NO-2 *6 100 125.0 37.0
H5 H6 2v V-2 & A 100 126.0 36.0 A5 Al12 3N O-2 &4 100 125.0 37.0
B7 Bl 2N O-2 49 100 126.0 36.0 D7 D1 3NO-2 &5 100 125.0 37.0
D7 D1 2# O-2 49 100 126.0 36.0 17 111 3N O -2 &5 100 125.0 37.0
17 111 2# O -2 49 100 126.0 36.0 A8 A19 3NO-2 &J 100 125.0 37.0
C8 C15 2v V-2 &2 100 126.0 36.0 B8 B3 3NO-2 &3 100 125.0 37.0
F8 F7 2% 0O-2 49 100 126.0 36.0 E8 E15 3NO-2 *6 100 125.0 37.0
B9 B6 2N O-2 »2 100 126.0 36.0 F8 F7 3NO-2 &4 100 125.0 37.0
C10 C2 24 O-2 49 100 126.0 36.0 H8 H3 3NO-2 &J 100 125.0 37.0
C12 C5 2vy O-2 9 100 126.0 36.0 Ci11 C26 3NO-2 LN 100 125.0 37.0
F13 F9 2NO-2 +J 100 126.0 36.0 C12 C5 3NO-2 &5 100 125.0 37.0
Al4 Al3 2v V-2 4 A 100 126.0 36.0 E16 E4 3NO-2 &T 100 125.0 37.0
F15 F10 2N O -2 49 100 126.0 36.0 J16 J2 3NO-2 &5 100 125.0 37.0
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Ji5 J10 3+ 0-2 49 100 126.0 36.0 E1l7 E12 3NO-2 &5 100 125.0 37.0
Al6 Al 2# 0O -2 49 100 126.0 36.0 E19 E10 3NO-2 *] 100 125.0 37.0
C28 C20 24 0-2 49 100 126.0 36.0 A20 A3 3N O -2 LN 100 125.0 37.0
G105 G112 2v O-2 49 100 126.0 36.0 C23 Cl6 3NO-2 &T 100 125.0 37.0
G106 G110 2NO-2 49 100 126.0 36.0 G104 G107 3NO-2 *4 100 125.0 37.0
D4 D5 2¢ N= vA 90 104.0 58.0 G105 G112 3NO-2 &5 100 125.0 37.0
H11 H7 2¢ N= vA 90 104.0 58.0 G106 G110 3NO-2 *4 100 125.0 37.0
C22 Cl4 2¢ N= *A 90 104.0 58.0 G115 G102 3NO-2 &5 100 125.0 37.0
J3 Ji1 14 N= vA 80 99.0 63.0 G116 G108 44 V-2 v5 100 125.0 37.0
Al10 All 1a N= vA 80 99.0 63.0 11 18 3NO-1 *] 50 77.0 85.0
E3 E5 3v V-1 oK 50 78.0 84.0 D2 D10 3NO-1 *] 50 77.0 85.0
B4 B5 3NO-1 49 50 78.0 84.0 D4 D5 3NO-1 &4 50 77.0 85.0
F4 F14 24 O-1 +J 50 78.0 84.0 HS5 H6 3NO-1 v8 50 77.0 85.0
H4 H14 2v V-1 s A 50 78.0 84.0 A6 Al5 3NO-1 &5 50 77.0 85.0
15 I3 2NV -1 s A 50 78.0 84.0 F6 F1 3NO-1 &5 50 77.0 85.0
F6 F1 2¢v O-1 49 50 78.0 84.0 J6 J1 INO-1 *] 50 77.0 85.0
A7 Al7 2#0-1 49 50 78.0 84.0 J8 J7 3NO-1 &5 50 77.0 85.0
E7 E1l 2v V-1 oK 50 78.0 84.0 E9 E13 3NO-1 &4 50 77.0 85.0
A8 Al9 2NO-1 *J 50 78.0 84.0 Al0 All 3NO-1 *6 50 77.0 85.0
J8 J7 24 0-1 49 50 78.0 84.0 C10 C2 3NO-1 *4 50 77.0 85.0
H12 H2 2#0O-1 49 50 78.0 84.0 C13 C24 3NO-1 &5 50 77.0 85.0
E16 E4 24 0-1 49 50 78.0 84.0 H13 H9 3NO-1 *4 50 77.0 85.0
Ji7 J5 2v V-1 s A 50 78.0 84.0 Ji3 J9 3NO-1 &5 50 77.0 85.0
J18 Ji2 2v V-1 a2 50 78.0 84.0 Al4 Al3 3NO-1 LN, 50 77.0 85.0
E20 El 3vO-1 49 50 78.0 84.0 Al6 Al 44 V-1 v3 50 77.0 85.0
A21 A9 2v O-1 49 50 78.0 84.0 F16 F2 3NO-1 *4 50 77.0 85.0
C27 C9 24 O-1 +J 50 78.0 84.0 F17 F5 3NO-1 &4 50 77.0 85.0
G113 G109 INO-1 *2 50 78.0 84.0 F18 F12 3NO-1 &5 50 77.0 85.0
G115 G102 2NO-1 *4 50 78.0 84.0 Ji8 J12 3NO-1 *] 50 77.0 85.0
A6 Al5 24 N-1 vA -50 51.0 111.0 C19 C3 3NO-1 *6 50 77.0 85.0
D9 D6 24 N-1 vA -50 51.0 111.0 E20 El 3NV-1 *4 50 77.0 85.0
E9 E13 3¢ N-1 vA -50 51.0 111.0 B9 B6 INO= *4 -90 54.0 108.0
C19 C3 3¢ N-1 &A -50 51.0 111.0 G113 G109 24 V= 3 -110 52.0 110.0
A20 A3 3¢ N-1 vA -50 51.0 111.0 F3 F11 2NO= *4 -120 47.0 115.0
G111 G101 3¢ N-1 vA -50 51.0 111.0 J3 J11 2NO = &5 -120 47.0 115.0
G114 G103 24 N-1 vA -50 51.0 111.0 112 14 2N O = *J -120 47.0 115.0
G116 G108 1a N-1 vA -50 51.0 111.0 El4 E2 2NO= *4 -120 47.0 115.0
C4 C18 3¢ N-2 vA -100 32.0 130.0 C4 Cl18 34 V= *A -140 40.0 122.0
A5 Al2 3¢ N-2 vA -100 32.0 130.0 H4 H14 24 V +1 *A -140 40.0 122.0
C6 C7 14 N-2 *A -100 32.0 130.0 Cc27 C9 24 V+1 v3 -140 40.0 122.0
E8 E15 3¢ N-2 vA -100 32.0 130.0 F4 F14 2N O +1 *5 -150 36.0 126.0
H10 H1 24DN-1 vA -100 32.0 130.0 15 I3 24 V+2 *A -170 31.0 131.0
112 14 24 N-2 vA -100 32.0 130.0 C8 C15 24 V+2 +Q -170 31.0 131.0
El4 E2 24 N-2 vA -100 32.0 130.0 F13 F9 24 V+2 a5 -170 31.0 131.0
E17 E12 3¢ N-2 vA -100 32.0 130.0 G114 G103 34 V+1 a5 -170 31.0 131.0
F18 F12 24 N-2 vA -100 32.0 130.0 12 110 2N O +2 v8 -180 25.0 137.0
E19 E10 3¢ N-2 vA -100 32.0 130.0 Ji7 J5 INV+3 v3 -180 25.0 137.0
G104 G107 14 N-2 vA -100 32.0 130.0 A4 A22 3NO= 46 -400 18.0 144.0
J13 J9 2v 0= 49 -110 19.0 143.0 H10 H1 3NV = v3 -400 18.0 144.0
F16 F2 2y O= 49 -110 19.0 143.0 F15 F10 3NO= *] -400 18.0 144.0
D2 D10 2NO= 49 -120 12.0 150.0 J15 J10 3NO = LN -400 18.0 144.0
12 110 2N O = 49 -120 12.0 150.0 E18 E6 3NO= *4 -400 18.0 144.0
H8 H3 2N O = 49 -120 12.0 150.0 D9 D6 44 O= *6 -420 11.0 151.0
H13 H9 2N O = *4 -120 12.0 150.0 Al8 A2 44 V= 3 -420 11.0 151.0
F17 F5 2N O = 49 -120 12.0 150.0 C6 C7 3NO+1 46 -430 4.0 158.0
J4 J14 INO +2 *9 -150 5.0 157.0 B7 Bl 3NO+1 46 -430 4.0 158.0
E18 E6 4¢ N-3 vA -150 5.0 157.0 E7 E11 3NO+1 *T -430 4.0 158.0
F3 F11 3¢DN-2 vA -300 2.0 160.0 H11 H7 3N O +1 v8 -430 4.0 158.0
Ad A22 3NO= *9 -400 0.0 162.0 C28 C20 3NO+1 v8 -430 4.0 158.0
- D3 84.1 - D3 84.1
- 16 73.6 - 16 73.6
19 « E109873 Basta kontrakt 20 D983 Basta kontrakt
Syd v 87 5& V D -1 200 Vast v Knl1083 14 N =80
ov ¢ EKn83 Alla 4653
&Kn & ¢ v & NT D8 & ¢ v & NT
4 KD5 .- N 2 102 103 «EKKn «754 N6 6 676
vKn10432 vKD965 S$29 2 103 vE96  vK754 S66776
¢ 104 ¢ K7 O 103 103 6 ¢ K109 +Kn72 077666
#E105 #K97432 V 103 103 6 #K963 754 V77€6F©6F©6
& Kn642 « 1062
vE vD2
¢ D9652 ¢ ED84
«D86 #EKn102
Par Kontr ut Res Poéng Par Kontr ut Res Poéng
C22 Cl2 44DN+1 *K 690 162.0 0.0 ES E16 INV-3 vJ 300 158.0 4.0
C13 C25 44DN= &K 590 160.0 2.0 A6 Al4 2NV -3 *Q 300 158.0 4.0
E19 E1l1 5¢vDO-2 ] 500 158.0 4.0 H13 H10 1INV -3 v8 300 158.0 4.0
A5 All 44 N+1 vK 450 156.0 6.0 Ji7 J6 1INV -3 vJ 300 158.0 4.0
B1 B4 44 N= v5 420 143.0 19.0 A21 A4 2NV -3 vJ 300 158.0 4.0
B5 B6 44 N= vK 420 143.0 19.0 C3 C21 2NV -2 vJ 200 145.0 17.0
C5 C19 44 N= v9 420 143.0 19.0 C9 C4 4v O-2 ¢ A 200 145.0 17.0
J5 J14 44 N= vK 420 143.0 19.0 F13 F10 2& V-2 vJ 200 145.0 17.0
B9 B7 44 N= vK 420 143.0 19.0 F16 F3 INV-2 vJ 200 145.0 17.0
F11 F15 44 N= vK 420 143.0 19.0 E1l7 El 3NO-2 LN, 200 145.0 17.0
J16 J3 44 N= v5 420 143.0 19.0 C20 Cl4 2NV -2 *3 200 145.0 17.0
Al7 A2 44 N= vK 420 143.0 19.0 G107 G111 INV-2 vJ 200 145.0 17.0
E18 E7 44 N= vK 420 143.0 19.0 G112 G102 1INV -2 vJ 200 145.0 17.0
E20 E2 44 N= v5 420 143.0 19.0 Al3 Al2 INS+1 s A 120 136.0 26.0
G113 G110 44 S= v2 420 143.0 19.0 C15 C24 24 N= v4 110 134.0 28.0
G114 G104 44 N= vK 420 143.0 19.0 C1 C6 1aV-1 vJ 100 108.0 54.0
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D1 D4 34 N+2 vK 200 127.0 35.0 D1 D4 2NV -1 48 100 108.0 54.0
A6 Al4 3NV-2 s A 200 127.0 35.0 12 11 INV-1 43 100 108.0 54.0
J9 J8 5vDO-1 a4 200 127.0 35.0 E3 E14 INV-1 vJ 100 108.0 54.0
Al19 A3 34 N +2 29 200 127.0 35.0 13 110 2& V-1 vlJ 100 108.0 54.0
12 11 24 N+2 vK 170 112.0 50.0 B5 B6 INV-1 vlJ 100 108.0 54.0
C3 C21 34 N+1 +K 170 112.0 50.0 F5 F14 INV-1 v8 100 108.0 54.0
E5 E16 34 N+1 29 170 112.0 50.0 H5 H14 INV-1 vlJ 100 108.0 54.0
16 14 34 N+1 vK 170 112.0 50.0 J5 Ji4 2NV -1 4Q 100 108.0 54.0
A9 A20 34 N+1 vK 170 112.0 50.0 H6 H7 2NV -1 +3 100 108.0 54.0
H9 H4 34 N+1 vK 170 112.0 50.0 B8 B2 2NV-1 48 100 108.0 54.0
H11 H2 34 N+1 9 170 112.0 50.0 B9 B7 2N V-1 43 100 108.0 54.0
J13 J10 34 N+1 vK 170 112.0 50.0 H9 H4 1INV -1 vJ 100 108.0 54.0
F16 F3 24 N+2 v5 170 112.0 50.0 J9 J8 INV-1 vlJ 100 108.0 54.0
C17 C26 34 N+1 vQ 170 112.0 50.0 H11 H2 1aV-1 vlJ 100 108.0 54.0
G106 G101 34 N+1 vK 170 112.0 50.0 Al7 A2 2v V-1 +6 100 108.0 54.0
H1 H3 24 N+1 vK 140 94.0 68.0 E18 E7 2v O-1 ¢4 100 108.0 54.0
A8 Al8 34 N= vK 140 94.0 68.0 Ji8 Jl INV-1 v3 100 108.0 54.0
18 111 34 N= vK 140 94.0 68.0 Al19 A3 INV-1 +6 100 108.0 54.0
F13 F10 24 N +1 vK 140 94.0 68.0 E20 E2 INV-1 v3 100 108.0 54.0
H13 H10 24 N+1 v5 140 94.0 68.0 c27 C7 INV-1 vlJ 100 108.0 54.0
Cc27 C7 34 N= vK 140 94.0 68.0 C28 C10 INO-1 43 100 108.0 54.0
G112 G102 24 N+1 23 140 94.0 68.0 G103 G115 INV-1 vlJ 100 108.0 54.0
C1 C6 5#0-1 a2 100 81.0 81.0 G113 G110 INV-1 vlJ 100 108.0 54.0
13 110 5# O -1 vA 100 81.0 81.0 G114 G104 INV-1 43 100 108.0 54.0
F4 F12 5& O -1 vA 100 81.0 81.0 Al Al5 INN= a7 90 80.0 82.0
112 I5 49 O-1 +Q 100 81.0 81.0 B3 B10 INS= *6 90 80.0 82.0
Ji7 J6 5v O-1 a4 100 81.0 81.0 F11 F15 INS= 3 90 80.0 82.0
Ji8 Jl 5v O-1 a2 100 81.0 81.0 C5 Cl19 1la V= 43 -70 72.0 90.0
E4 E6 44 N-1 vK -50 65.0 97.0 C11 C2 1laV= 43 -70 72.0 90.0
D5 D6 44 N-1 3 -50 65.0 97.0 C13 C25 1la V= vJ -70 72.0 90.0
F7 F2 44 N-1 vQ -50 65.0 97.0 C17 C26 1laV-= 48 -70 72.0 90.0
B8 B2 44 N-1 *K -50 65.0 97.0 Cc22 Cl2 1aV= 43 -70 72.0 90.0
D9 D7 34 N-1 v9 -50 65.0 97.0 A22 Al0 1v O= 46 -80 66.0 96.0
F9 F8 24 N-1 a4 -50 65.0 97.0 E4 E6 INV= 43 -90 52.0 110.0
E13 E10 44 N-1 vK -50 65.0 97.0 F4 F12 1INV = 43 -90 52.0 110.0
C15 C24 44 N-1 v5 -50 65.0 97.0 A8 Al8 INV= 43 -90 52.0 110.0
A21 A4 44 N-1 *7 -50 65.0 97.0 Cc8 Cl16 1INV = +6 -90 52.0 110.0
c28 C10 44 N-1 «9 -50 65.0 97.0 18 111 INV= 43 -90 52.0 110.0
C18 C23 44 N-2 *2 -100 52.0 110.0 A9 A20 INV = 43 -90 52.0 110.0
F18 F1 54DN-1 vK -100 52.0 110.0 F9 F8 INV= 48 -90 52.0 110.0
G103 G115 54DN-1 vK -100 52.0 110.0 Ji1 J15 INV = 43 -90 52.0 110.0
E3 El4 44 0= vA -130 47.0 115.0 H12 H8 INV= 43 -90 52.0 110.0
G107 G111 44 0= vA -130 47.0 115.0 112 15 INV= 43 -90 52.0 110.0
C11 C2 3v V= s A -140 43.0 119.0 J13 JI10 INV = vlJ -90 52.0 110.0
H12 H8 2v V +1 *] -140 43.0 119.0 C18 C23 INV= 43 -90 52.0 110.0
H6 H7 3v O+1 *6 -170 39.0 123.0 G105 G108 1INV = 43 -90 52.0 110.0
F17 F6 3v O+1 2 -170 39.0 123.0 F7 F2 2v N-1 45 -100 35.0 127.0
A13 Al2 54D N-2 vK -300 36.0 126.0 J7 J2 24 N-1 2 -100 35.0 127.0
D3 D10 4v O = 2 -620 23.0 139.0 E13 E10 1a N-1 *4 -100 35.0 127.0
J4 J12 4v O = +6 -620 23.0 139.0 E19 E11 24 N-1 v5 -100 35.0 127.0
F5 F14 4v O = a4 -620 23.0 139.0 B1 B4 2v O= ¢ A -110 30.0 132.0
H5 H14 4v O = vA -620 23.0 139.0 A5 All 2NV = a2 -120 24.0 138.0
A7 Al6 4v V= LN -620 23.0 139.0 16 14 INV +1 v8 -120 24.0 138.0
J7 J2 4v V= LN -620 23.0 139.0 E8 E12 1INV +1 43 -120 24.0 138.0
C8 Cl6 4v O= L) -620 23.0 139.0 F18 F1 INV+1 vlJ -120 24.0 138.0
E8 E12 4y V= s A -620 23.0 139.0 G109 G116 2NV = 48 -120 24.0 138.0
J11 J15 4v O = a2 -620 23.0 139.0 A7 Al6 2NV +1 43 -150 17.0 145.0
E15 E9 4v O= 2 -620 23.0 139.0 F17 F6 1INV +2 v3 -150 17.0 145.0
G105 G108 4v O = +5 -620 23.0 139.0 H1 H3 INDV= 43 -180 12.0 150.0
G109 G116 4v O= +5 -620 23.0 139.0 J4 J12 1INV +3 v3 -180 12.0 150.0
Al Al5 4v O +1 a2 -650 8.0 154.0 G106 G101 1INV +3 48 -180 12.0 150.0
B3 B10 5v V= s A -650 8.0 154.0 D3 D10 2v N-2 a7 -200 5.0 157.0
C20 Cl4 49y O+1 aJ -650 8.0 154.0 D5 D6 2v N-2 a4 -200 5.0 157.0
C9 C4 4y O +2 a2 -680 3.0 159.0 D9 D7 2¢ S-2 aA -200 5.0 157.0
E17 El 4v V+2 s A -680 3.0 159.0 J16 J3 24 N-2 v4 -200 5.0 157.0
A22 Al0 5vDO= a4 -850 0.0 162.0 E15 E9 2¢ S-3 s A -300 0.0 162.0
- D2 70.0 - D2 70.0
- 17 99.0 - 17 99.0
21 ~E6 Basta kontrakt 22 49 Basta kontrakt
Nord v 10942 34 OD-1100 Ost v EKn10853 54 O =-650
NS ¢ EKD62 oV ¢ Kn3
*E6 & ¢ v & NT #Kn874 & ¢ v & NT
4 KDKn10982 &74 N7 8848 48432 4 EKD105 N6 1813
v EKn vKD63 S78848 vD v72 S61813
¢ Kn7 4543 045585 ¢+ EKD87 ¢ 1094 O 7 115 116
+D9 #Kn1085 V45585 #K53 «D102 vV 7 115 116
453 4Kn76
v 875 v K964
¢ 1098 4652
#K7432 *E96
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
D5 D6 44DV -2 *A 300 161.0 1.0 17 15 4¢ V-1 49 100 161.0 1.0
E10 E15 44DV -2 ¢A 300 161.0 1.0 F16 F4 44 O-1 v6 100 161.0 1.0
E19 E12 44 V-3 SA 150 158.0 4.0 D4 D10 4v N-1 s A -50 157.0 5.0
C3 C6 44 V-2 *A 100 147.0 15.0 Ji3 Ji1 3v N-1 aA -50 157.0 5.0
J5 J1 44 V-2 *A 100 147.0 15.0 D6 D7 4¢ V+1 49 -150 152.0 10.0
A10 A21 44DV -1 ¢ A 100 147.0 15.0 Ji7 J7 5v N-3 s A -150 152.0 10.0
J16 J4 34 V-2 *A 100 147.0 15.0 A20 A4 24 V +3 49 -150 152.0 10.0
E18 E8 34 V-2 ¢A 100 147.0 15.0 F8 F3 3¢ V+3 49 -170 148.0 14.0
J18 J2 4e V-2 ¢ A 100 147.0 15.0 Al Al4 34 O +2 v6 -200 133.0 29.0
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A20 4e V-2 ¢+ A 100 147.0 15.0 B1 B3 34 O+2 v4 -200 133.0 29.0
C23 34DV-1 &A 100 147.0 15.0 14 110 34 O +2 v4 -200 133.0 29.0
G106 34 V-2 A 100 147.0 15.0 A6 Al3 34 O +2 v4 -200 133.0 29.0
G113 34DV-1 ¢+ A 100 147.0 15.0 H7 H8 34 O +2 v4 -200 133.0 29.0
13 34 V-1 ¢ A 50 117.0 45.0 E10 E15 34 O +2 v4 -200 133.0 29.0
C4 34 V-1 *A 50 117.0 45.0 F10 F9 34 O +2 v6 -200 133.0 29.0
A6 44 V-1 ¢+ A 50 117.0 45.0 H12 H3 24 O +3 v4 -200 133.0 29.0
B8 34 V-1 ¢ A 50 117.0 45.0 F14 F6 34 O +2 v6 -200 133.0 29.0
E9 34 V-1 ¢ A 50 117.0 45.0 H14 H6 24 O +3 vK -200 133.0 29.0
C10 384 V-1 *A 50 117.0 45.0 E16 E6 34 O+2 *A -200 133.0 29.0
E11 44 V-1 ¢ A 50 117.0 45.0 J16 J4 24 O 43 v9 -200 133.0 29.0
J12 34 V-1 ¢ A 50 117.0 45.0 Al18 A3 34 O +2 v6 -200 133.0 29.0
F13 34 V-1 ¢+ A 50 117.0 45.0 E18 E8 34 O+2 v4 -200 133.0 29.0
J13 34 V-1 &A 50 117.0 45.0 Cc8 C18 34 O+3 vK -230 118.0 44.0
C14 34 V-1 ¢ A 50 117.0 45.0 D1 D3 44 O= v6 -620 115.0 47.0
E14 384 V-1 *A 50 117.0 45.0 J5 J1l 44 O= v4 -620 115.0 47.0
J14 34 V-1 ¢ A 50 117.0 45.0 11 111 44 O +1 *A -650 68.0 94.0
Ji7 34 V-1 ¢ A 50 117.0 45.0 A2 Al6 44 O +1 v6 -650 68.0 94.0
A18 384 V-1 ¢+ A 50 117.0 45.0 D2 D5 44 O +1 *A -650 68.0 94.0
F18 44 V-1 ¢ A 50 117.0 45.0 E2 E17 44 O+1 v4 -650 68.0 94.0
C19 34 V-1 ¢ A 50 117.0 45.0 H2 H4 44 O +1 v4 -650 68.0 94.0
G107 384 V-1 ¢+ A 50 117.0 45.0 C3 C6 44 O+1 vK -650 68.0 94.0
G108 44 V-1 ¢ A 50 117.0 45.0 13 12 44 O +1 &A -650 68.0 94.0
G116 34 V-1 ¢ A 50 117.0 45.0 C4 C7 44 O+1 v4 -650 68.0 94.0
H14 la V= ¢+ A -80 96.0 66.0 B6 B7 44 O+1 v4 -650 68.0 94.0
A9 4¢ N-1 a7 -100 94.0 68.0 16 112 44 O +1 &A -650 68.0 94.0
Al 24 V= ¢A -110 69.0 93.0 A7 Al5 44 O +1 vK -650 68.0 94.0
Bl 26 V= *A -110 69.0 93.0 J8 J3 44 O+1 v4 -650 68.0 94.0
E2 264 V= ¢ A -110 69.0 93.0 A9 Al9 44 O +1 &A -650 68.0 94.0
H2 24 V= ¢ A -110 69.0 93.0 E9 El 44 O+1 vK -650 68.0 94.0
12 26 V= ¢+ A -110 69.0 93.0 C10 C16 44 O +1 *A -650 68.0 94.0
D3 1a V+1 &A -110 69.0 93.0 H10 H5 44 O +1 *A -650 68.0 94.0
B5 24 V= ¢ A -110 69.0 93.0 J10 J9 44 O+1 +6 -650 68.0 94.0
H7 26 V= ¢+ A -110 69.0 93.0 Al2 All 44 O+1 v6 -650 68.0 94.0
A8 24 V= ¢ A -110 69.0 93.0 F12 F15 4e V +1 v4 -650 68.0 94.0
C8 26 V= ¢ A -110 69.0 93.0 J12 J15 44 O +1 v4 -650 68.0 94.0
F8 26 V= ¢ A -110 69.0 93.0 F13 F11 44 O +1 v6 -650 68.0 94.0
D9 264 V= &A -110 69.0 93.0 H13 H11 44 O +1 v6 -650 68.0 94.0
F10 24 V= *A -110 69.0 93.0 Ci14 C24 44 O +1 vK -650 68.0 94.0
H10 26 V= &A -110 69.0 93.0 E14 E4 44 O+1 v4 -650 68.0 94.0
H12 264 V= &A -110 69.0 93.0 J14 J6 44 O +1 *A -650 68.0 94.0
112 24 V= ¢ A -110 69.0 93.0 C15 C25 44 O+1 +6 -650 68.0 94.0
H13 26 V= ¢ A -110 69.0 93.0 C17 C2 44 O+1 *A -650 68.0 94.0
C15 264 V= ¢ A -110 69.0 93.0 F17 F7 44 O +1 v4 -650 68.0 94.0
E16 26 V= ¢ A -110 69.0 93.0 J18 J2 54 O= v6 -650 68.0 94.0
C20 26 V= ¢ A -110 69.0 93.0 C19 C22 44 O+1 v6 -650 68.0 94.0
c21 264 V= ¢ A -110 69.0 93.0 E19 E12 44 O+1 &A -650 68.0 94.0
A22 24 V= ¢ A -110 69.0 93.0 C20 Cl12 44 O+1 vK -650 68.0 94.0
c27 26 V= &A -110 69.0 93.0 E20 E3 44 O+1 v4 -650 68.0 94.0
G101 1a V+1 ¢ A -110 69.0 93.0 c21 C5 44 O+1 &A -650 68.0 94.0
A2 34 V= ¢+K -140 27.0 135.0 A22 A5 44 O +1 +5 -650 68.0 94.0
E5 34 V= ¢ A -140 27.0 135.0 C23 C9 44 O+1 *A -650 68.0 94.0
F5 34 V= ¢ A -140 27.0 135.0 c27 Cl 44 O+1 +6 -650 68.0 94.0
16 3e V= ¢A -140 27.0 135.0 C28 Cll 44 O+1 v4 -650 68.0 94.0
A7 34 V= &A -140 27.0 135.0 G104 G115 54 O= vK -650 68.0 94.0
18 24 V+1 &A -140 27.0 135.0 G105 G114 44 O +1 v4 -650 68.0 94.0
J8 34 V= ¢+ A -140 27.0 135.0 G106 G109 44 O +1 v4 -650 68.0 94.0
B9 34 V= ¢ A -140 27.0 135.0 G107 G102 44 O +1 v4 -650 68.0 94.0
Al12 24 V+1 ¢ A -140 27.0 135.0 G108 G112 44 O +1 *A -650 68.0 94.0
F12 24 V+1 &6 -140 27.0 135.0 G113 G111 44 O +1 v6 -650 68.0 94.0
C13 34 V= ¢ A -140 27.0 135.0 G116 G110 44 O +1 v6 -650 68.0 94.0
F14 34 V= ¢ A -140 27.0 135.0 H1 H9 4a O +2 &A -680 11.0 151.0
F16 3e V= ¢A -140 27.0 135.0 B2 B5 44 O +2 &A -680 11.0 151.0
C17 34 V= ¢ A -140 27.0 135.0 B4 B10 44 O +2 &6 -680 11.0 151.0
F17 24 V+1 ¢ A -140 27.0 135.0 E5 E7 44 O +2 &A -680 11.0 151.0
C28 24 V+1 4 A -140 27.0 135.0 F5 F1 44 O +2 &A -680 11.0 151.0
G104 34 V= ¢ A -140 27.0 135.0 A8 Al7 44 O +2 *A -680 11.0 151.0
G105 34 V= ¢ A -140 27.0 135.0 B9 B8 44 O +2 +6 -680 11.0 151.0
H1 24 V +2 ¢A -170 5.0 157.0 Al10 A21 44 O +2 46 -680 11.0 151.0
B3 34 V+1 ¢+ K -170 5.0 157.0 E11l E13 44 V +2 &6 -680 11.0 151.0
J10 364 V+1 ¢ A -170 5.0 157.0 C13 C26 44 O +2 +6 -680 11.0 151.0
E20 24 V +2 *A -170 5.0 157.0 F18 F2 44 O +2 vK -680 11.0 151.0
D1 4¢ N-2 a7 -200 0.0 162.0 G101 G103 44 V +2 &6 -680 11.0 151.0
- 70.0 D9 - 62.9
- 99.0 - 18 94.9
4109 Basta kontrakt 24 4 D5 Basta kontrakt
v72 54 V =-650 Vast vKn8 5v V =-450
48753 Ingen ¢+ ED642
#ED1084 & ¢ v & NT #Kn765 & ¢ v & NT
4 KD72 #EKn85 N547 28 & EK9 4107432 N36113
vD9863 v- S547 28 v KD9 vE7543 S36113
+ EDKn1094 06 9 5 105 +93 +75 O 107 11108
#KKn5 4932 vV 8 9 5 115 #KD1084 #E V 107 11108
643 « Kn86
v EKKn1054 v 1062
+ K6 + KKn108
*76 #9032
Par Kontr Ut Res Poang Par Kontr Ut Res Poang
13 12 5¢4DO-4 vK 1100 162.0 0.0 E10 E2 3NV-2 2 100 161.0 1.0
B2 B5 34 V-3 v7 300 157.0 5.0 F12 F13 6N O -2 vT 100 161.0 1.0
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